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Multiple choice questions
1.
Companies operating nationally deal mostly with currency transactions that are…

a) In the currency that is legal tender in the country of operation

b) In as many different currencies as they have foreign suppliers

c) Both of the above

d) Neither of the above

Answer: c

2. 
When establishing and operating in a different country, expectations regarding culture are likely to be unclear for...

a) A local firm

b) A national company

c) An international enterprise

d) Answers a) and b)

e) Neither of the above

Answer: d

3. 
Single or standard accounting practices mostly concern...

a) A local or national company

b) An international company

c) Both of the above

d) Neither of the above

Answer: a

4.   Autonomous forms of management tend to be found mostly in...

a) A local company

b) An international corporation

c) Both of the above

d) None of the above

Answer: b

5. 
Local companies and small companies participate in international business activities mostly through...

a) Greenfield foreign direct investment

b) Importing and/or exporting

c) Outsourcing

d) All of the above

e) None of the above

Answer: b
6.   In a private company…

a) The manager is always the owner of the company

b) The founder of the business is never the owner of the company

c) Both of the above

d) Neither of the above

Answer: d
7. 
True or false: Within the public company the owners are the shareholders who invested financially in the equity of the business.

a) True

b) False

Answer: a

8. 
Which of the following accurately represents the roles and responsibilities of company directors within public companies?

a) Company directors are distinct from the senior managers but together they take long-term strategic decisions and determine the organization’s goals

b) Although the managers look after the day-to-day operations in the company, it is the directors who are ultimately responsible for how the business is run

c) Both of the above

d) Neither of the above

Answer: c

9. 
True or false: Within a public company the chief executive officer is accountable to the directors who charge him/her with the responsibility of carrying out the corporate strategic plans.

a) True

b) False

Answer: a

 10.
 True or false: Public listed companies may have state and private shareholders

a) True

b) False

Answer: a

11.
Which of the following organizational features is most commonly associated   with multinational enterprises?

a) A company whose subsidiaries each have their own resources such as assets, technology, intellectual property or human resources – none of which they are able to share

b) A company that has divisions and subsidiaries or contracts with other companies to have its products produced under licence in different countries

c) Both of the above

d) Neither of the above

Answer: b

12.
True or false: When operating in different countries an MNE only needs to use international accounting standards to report and publish its financial data.

a) True

b) False

Answer: b

13.
True or false: Despite greater harmonisation of accounting standards and practice in the world today, international companies still need to ensure that they satisfy the legal requirements of national financial authorities and the demands for financial transparency from their international stakeholders.

a) True

b) False

Answer: a

14.
Which of the following activities of an MNE may operate more efficiently if they are managed centrally?

a) International market research

b) Accounting and financial reporting

c) Operations and Research and Development (R&D)

d) All the above

e) None of the above

Answer: e

15. Which of the following activities of an MNE may be decentralised to adapt to the diverse socio-cultural environment of international business?

a) Operations and Research and Development (R&D)

b) Use of technology and technical support

c) Human resource recruitment

d) All of the above

e) None of the above

Answer: d
16. In countries where MNEs have established operations, they provide…

a) Employment

b) Training and expertise

c) Both of the above

d) Neither of the above

Answer: c

17.
True or false: MNEs are rarely interested in stimulating the development of infrastructure in the host countries where they operate because this is the sole responsibility of governments.

a) True

b) False

Answer: b

18.
Although MNEs tend to establish operations through foreign direct investment, they have been criticised for…

a) Their poor equal opportunity programmes

b) Maintaining low wage levels and taking advantage of loose enforcement of local labour laws

c) Exporting pollution and obsolete technology

d) All the above

e) None of the above

Answer: d
19.
Which of the following statements relating to corporate governance in an international business is correct?

a) A company’s stakeholders are shareholders who are directly involved in the management of operations

b) Stakeholders are not associated with the activities of a business even though they may be affected by the decisions taken by the directors or the supervisory board

c) Both of the above

d) Neither of the above

Answer: d

20. Which of the following statements about strategic alliances is true?

a) Strategic alliances, like joint ventures, may lead to mergers or acquisitions if this type of cooperation is perceived to achieve both economies of scale in terms of production capacity and efficiencies in terms of responsiveness to changes in markets

b) Strategic alliances are cooperative arrangements that involve the pooling of resources such as skills for product innovation and development

c) Both of the above

d) None of the above

Answer: c

21.
The organizational environment of an MNE involves networks with other companies, which…

a) Are formal arrangements between partners in an industry where competition is weak

b) Appear ideal as informal arrangements such as between the businesses within an MNE where specialist inputs spread over many different locations may be coordinated for a time

c) Both of the above

d) Neither of the above

Answer: b

22. True or false: The North American Free Trade Association (NAFTA), like the European Union (EU), is an integrated union of states that promote free trade and a common currency.

a) True

b) False

Answer: b

23. Unlike other regional institutions the European Union (EU) has developed…

a) A central government and administration

b) A common currency

c) Common policies and governance structures

d) Answers a) and b)

e) Answers b) and c)

f) None of the above

Answer: e

24. The role of the World Trade Organization (WTO) is to…

a) Abolish barriers to trade such as tariffs

b) Enforce free trade among its members

c) Provide authority on matters of global trade and assistance in resolving trade disputes

d) All the above

e) None of the above

Answer: d
25.
The role of the Organization for Economic Co-operation and Development (OECD) is to…

a) Act as the world’s referee on all matters of international trade

b) Represent the interest of rich countries in international trade

c) Publish research and provide authoritative guidelines on issues affecting businesses and societies

d) All of the above

e) None of the above

Answer: c

Short answer questions with guideline answers 
1.
List five or more typical challenges that firms engaging in international business have to meet.

a) Compliance with national taxation systems

b) Compliance with national and international regulations (aside taxation laws, e.g., on competitive practices, employment, environmental standards...)

c) Dealing with transactions in multi-currencies

d) Managing multiple bank accounts and multiple banking and accounting practices

e) Be prepared to undergo language training for staff operating in multi-lingual environments or at foreign locations

f) Be prepared to undergo cultural awareness training; dealing with uncertainty and unclear expectations regarding business culture in the countries of operation

g) Undertake thorough market research to identify and target suitable market segments in the countries of operation

h) Establishing and operating in risky environments, including dealing with unfamiliar niche markets

2.
The change in ownership structure of equity in a public company may reveal different priorities for the owners of that company. Briefly outline some of those priorities.

a) Through an IPO – by flotation of shares, to raise capital to fulfil various objectives

b) Through an IPO – by selling off state-owned businesses to raise capital to debt or to fulfil a political commitment to lower taxes

c) Through diversification of equity ownership – spreading of risk, investment for financial gain

d) Through selling/buying of equity – in mergers or acquisitions (as part of FDI strategy) or through consolidation of sector or industry when competition hots up

e) Selling/buying of equity – maintaining a controlling stake through part-privatisation or part-renationalisation, for example for geopolitically strategic reasons (Gazprom), or for political and economic reasons (bailing out of failing banks)

3.
In your own words, outline the main reasons that in order to expand and compete globally, a company need not be large

a) ICT progress and advances have made it possible for businesses of small size to reach customers and suppliers across the world

b) Some entrepreneurs adopt a global focus and commit to develop internationally their operations right from the start; they are, as it were, ‘born-global’ firms

c) Companies that remain entrepreneurial and prioritise their innovative capacity for sustaining competitive advantages in existing markets may find that they are better able to respond to local changes in demand or to adapt to changes in market conditions

d) Research and development breakthroughs tend to come from smaller, more entrepreneurial operations (as in pharmaceutical and biosciences sectors); in turn those can continue to focus on innovative activities that generate sustainable sources of income

e)
...
4.
List some advantages of franchising and give at least two reasons why so many fast food chains have preferred this type of business operation over others.

a) For the franchisee, ‘piggy-backing’ on owner of brand’s reputation

b) Access to franchisor’s resources in terms of training, knowledge/experience for example

c) Relatively low-cost method of expansion through internationalisation for the franchisor

d) ...

Reasons why franchising may be preferred:
a) Franchising offers the franchisor opportunities to expand abroad quickly and more cheaply than through other forms of FDI – providing franchise laws are enforced

b) Franchising offers local entrepreneurs (franchisees) in foreign countries opportunities to grow their business and gain managerial experience

c) Branding and developing customer loyalty and growing niches internationally

d) ...

5. 
Give at least two reasons why strategic alliances are often difficult to negotiate.

a) Unlike Joint Ventures, alliances tend to be informal arrangements not so bound by contractual agreements

b) Some governments do not easily recognise alliances but prefer to set up Joint Ventures with foreign investors (e.g., Nigeria, China...)

c) Alliances that have proved successful in the automotive sector, for example, were those where partner companies acknowledged the endgame to be a takeover

...

Multiple choice questions
1.
True or false: Globalisation standardises markets, production and working methods, companies and organizational structures, and social structures and languages.

a) True

b) False

Answer: b

2.
True or false: Globalisation is facilitated only through progress achieved in communication technology and transport

a) True

b) False

Answer: b

3. 
Which of the following statements accurately reflect globalisation of markets?

a) A globalised market is where consumer products and services are highly standardised irrespective of national cultures or preferences

b) Technology has enabled MNEs to both deliver standardised products worldwide and customise products for different markets

c) Both of the above

d) Neither of the above

Answer: c
4.
True or false: The globalisation of markets has as much to do with business enterprises adopting a global approach to marketing strategies as it does with the opening up of markets through the reduction of trade barriers.

a) True

b) False

Answer: a
5.
True or false: Globalisation of production exists simply because of a rise in demand for standardised products worldwide.

a) True

b) False

Answer: b

6.
True or false: Globalisation of production happens only when multinational enterprises are able to divide up their production processes and relocate them in countries that offer the best opportunities for operating at low cost.

a) True

b) False

Answer guide: refer to Chapter 2, pp.42-43

Answer: b

7.
True or false: For an MNE the decision regarding the location of production facilities does not depend on national governments’ policies but only on cost considerations.

a) True

b) False

Answer: b
8.
True or false: An MNE chooses between foreign direct investment, joint ventures or licensing and franchising, depending on the degree of control (ownership) it wants to have over its international operations.

a) True

b) False

Answer: a

9.
True or false: Green field investment does not require much control once operations are set up and running.

a) True

b) False

Answer: b

10. True or false: Business-process outsourcing requires no planning between the outsourcing company and its clients to ensure adequate running of the company’s back-office operations (e.g., HR processes, payroll, call centre).

a) True

b) False

Answer: b

11. Which of the following statements accurately reflect the reality of outsourcing?

a) The business processes outsourced the most are back office or support activities

b) Back office or support activities become the core business of the company providing the service to the outsourcer

c) Both the above

d) Neither of the above

Answer: c

12. True or false: In several emerging countries governments tend not to allow foreign investors to gain a controlling stake in companies that are deemed ‘strategic’ (oil sector) or significant employers (retail, telecoms) so FDI usually takes the form of joint ventures.

a) True

b) False

Answer: a

13. The FDI model describing FDI processes most comprehensively is that which takes account of …

a) Ownership advantages

b) Location advantages

c) Internalisation advantages

d) All of the above

e) None of the above

Answer: d

14. True or false: R. Vernon’s international product life-cycle model predicted that as innovative products become standardised and cheaper over time, companies need not move production to lower cost locations but only invest in diffusing technology overseas.

a) True

b) False

Answer: b

15. Johanson and other Scandinavian researchers discovered that the safest way to conduct FDI was to…

a) Proceed ‘incrementally’ to enter countries whose cultures were very different from the investors’ own after carefully gathering knowledge of local markets

b) Establish sales subsidiaries in foreign markets only after having exported there for some time, and before establishing further production facilities

c) Both of the above

d) Neither of the above

Answer: c

16. The track record of FDI inflows over the past decade or so indicates that…

a) The majority of investments are directed towards developed economies

b) The gap between FDI inflows to developed and developing countries does not appear to be closing

c) Both of the above

d) Neither of the above

Answer: d

17.
The reasons why FDI flows to … … grow are usually associated with companies seeking to access basic resources more readily

a) Developed countries

b) Developing countries

c) Both of the above

d) Neither of the above

Answer: b

18.
True or false: Strong FDI inflows suggest an attractive investment environment while weak inflows might result from adverse government policy or weak industrial and technological environments

a) True

b) False

Answer: a

19.
Although both large and small companies may participate in international business activities, large companies…

a) Usually cease exporting and importing after they establish FDI

b) Account for a lower proportion of the world’s overall value of outward FDI

c) Both of the above

d) Neither of the above

Answer: d

20. Regarding the level and type of outward foreign direct investment…

a) Large firms are less likely than small companies to engage in FDI

b) Large firms generally engage in exporting and importing only after they make FDI

c) Large firms account for a higher proportion of the value of the world’s outward FDI

d) All of the above

e) None of the above

Answer: c

21. Many countries hoping to participate in the global economy are keen to attract foreign investors through…

a) Developing, amongst others, an R&D infrastructure capable of supporting high quality manufacturing output

b) Guaranteeing Internet access so that technology may be transferred into the country

c) Developing a well qualified  and cheap labour force

d) a) and b)

e) a) and c)

f) b) and c)

Answer: d
22.
True or false: Outsourcing companies focusing on manufacturing activities tend to offer fewer spill-over effects than inward investors focusing on R&D as they will use the skills and talents available in the country.

a) True

b) False

Answer: a

23.
True or false: The societal transformations occurring in the developing world are very slow when compared to the cultural and socio-economic shift that took place in Europe and North America during the industrial revolution

a) True

b) False

Answer: b

24.
For societies, the most legitimate concern about the environmental impact from globalisation appears to be that…

a) Multinational enterprises expanding their activities worldwide also tend to export polluting activities to countries whose population might suffer health effects – and ultimately lose out on the potential benefits of participating in the global economy

b) They fear that foreign investors will not be attracted if the host country has stringent environmental laws that limit the scope for certain large scale activities (e.g. mining or manufacturing), so the country might lose out in the long-term

c) Both of the above

d) Neither of the above

Answer: a

25. 
The key to evaluating multinational enterprises’ actions in societies is to…

a) Encourage MNEs to provide employment and associated training through low-cost incentives

b) Question the long-term motives of foreign investors whatever the nature of their operations and their impact on the local environment

c) Both of the above

d) Neither of the above

Answer: b
Short answer questions with guideline answers
1.
Outline what the globalisation of markets, production, (information) technology and finance means for firms and societies

a) For firms: targeting consumers in markets where they operate; looking for optimal locations in terms of cost advantages and production capacity; developing computerised networks inside the firm and with partners/suppliers; raising capital from sources worldwide

b) For societies: access to wide(r) range of products from across the globe; employment and training resulting from FDI inflows; integration into global communications networks; integration (and access to) global capital markets
c) …
2.
Briefly explain how a company may use outsourcing as part of its strategy to turn around losses in sales and market share.

a) Outsourcing part or all manufacturing operations to locations offering significant cost advantages

b) Achieving economies of scale – consequently to coordinating outsourced operations

c) Commitment to keeping to international standards regarding working conditions - potentially boosts the company’s CSR and ethical image

d) Satisfy consumers’ concerns regarding CSR and management of outsourced operations, by guaranteeing standards (of manufacturing processes and working conditions, for example)
e) ...
3.
List at least two common advantages and two common problems to firms involved in ‘green field’ investments for manufacturing purposes.

Common advantages:

a) The firm can tailor the design of its production unit(s) to its specifications from the outset

b) The investing firm has total control and ownership of this kind of operations

c) Establishing abroad ‘from scratch’ involves deep interactions with the host country, which can be profitable in the long-term – notably leading to forming relationships with local suppliers

d) ...

Common problems:

a) Green field investment requires in-depth knowledge and experience of business culture, practices, and government policies and regulatory requirements – all costly and time-consuming

b) Direct threat from competitors with well established links locally

c) Direct threat from other international investors seeking similar opportunities through developing green field sites

d) ...

4. 
Outline some common insights of theories of international business expansion

a) S. Hymer worked on the concepts of location and ownership advantages to explain how firms involved in FDI were able to organize production efficiently and compete with local firms

b) R. Vernon showed how innovative products become cheaper through standardisation over time, leading to market saturation, relocation of production abroad, followed by new waves of innovations (in a cycle-like fashion) 

c) Scandinavian theorists tried to explain penetration of foreign markets (and FDI processes) through stages of establishment of ever more complex operations there, noting the importance of ‘cultural distance’ and knowledge and experience of foreign markets

d) J. Dunning linked together the notions of ownership, location and ‘internalisation’ advantages to explain FDI decisions – his approach appeared to be more comprehensive and thus ‘eclectic’

5. 
Outline some common criticisms of early theories of international business expansion

a) S. Hymer (over)emphasized control over location and ownership advantages as key to FDI, and underestimated other factors (e.g. transaction costs associated with dealing in multiple currencies, or strategic considerations by the investing firm in relation to its organizational environment...)

b) R. Vernon’s model did not account well for diffusion of innovation and technology, nor did it envisage multiple location of production subsidiaries early on in the ‘life-cycle’ to serve and/or penetrate markets at multiple points, for example

c) Scandinavian research seemed limited mostly to Scandinavian examples and very small samples of industries, which raised issues over whether their studies were truly representative
In J. Dunning’s work, ‘Internalisation advantages’ are conceptually distinct particularly from ‘Ownership advantages’, yet in practice ‘Internalisation’ refers to key strategic decisions regarding control through ownership (and to some extent location decisions) based on a cost-benefit assessment

d) 
Multiple choice questions 

1.
True or false: The gross domestic product per person adjusted for purchasing power parity indicates ‘real’ income distribution among a country’s inhabitants

a) True

b) False

Answer: a

2.
Which of the following situations is likely to generate inflation at national or international levels?

a) A rise in the prices of food and housing only

b) An increase in national budget deficit and debt

c) Both of the above

d) Neither of the above

Answer: d

3.
Which of the following situations is likely to generate inflation at national or international levels?

a) Growth in imports of merchandise or increased dependence on imports generally

b) Fast economic growth where supply is consistently outpaced by rising demand or where demand for energy and raw materials to fuel growth is rising fast

c) Both of the above

d) Neither of the above

Answer: c
4.
Employment and productivity in a country critically depend on which of the following factors?

a) The average age of the working population

b) Increasing inward FDI in manufacturing activities employing low-skills labour

c) Both of the above

d) Neither of the above

Answer: d

5.
For a country, reaching a trade balance between imports and exports year on year means that…

a) It must first guarantee its exports either by limiting all imports or by protecting its domestic industries

b) Its objective is to ensure that its year on year balance of payments is always positive

c) Both of the above

d) Neither of the above

Answer: d

6.
True or false: A country’s competitiveness may be built on its capacity for exports because of cost advantages.

a) True

b) False

Answer: a
7.
Inequality in incomes between and within countries remains a major concern internationally for societies, so long as…

a) Governments will not design policies to combat inequality through land and economic asset ownership or welfare reforms until the society’s core values have changed

b) Governments prioritise fast economic growth and sustained competitiveness built on exports but at the detriment of citizens whose purchasing power may be kept artificially low through low wages and local cost advantages

c) Both of the above

d) Neither of the above

Answer: b

8.
As greater equality of wealth in a nation offers citizens opportunities to have more disposable income for consumption, there is fear that…

a) An increase in demand for imports might result in a deficit in the balance of payments

b) An increase in demand for imports might result in more an increase in domestic business failures

c) Both of the above

d) Neither of the above

Answer: c

9.
Which of the following factors determines most priorities in terms of government spending?

a) Giving businesses incentives to employ more people through corporation tax cuts

b) How much a government can reasonably expect revenues from taxation and other sources

c) Both of the above

d) Neither of the above

Answer: b

10.
Which of the following statements accurately reflects issues with taxation and international business?

a) Some governments keep taxes on corporate income low and simple as a strategy to attract investors into the country

b) Regardless of social spending imperatives or justification in a country, high tax is in general the main cause of low or stagnant economic growth

c) Both of the above

d) Neither of the above

Answer: a

11.
Planned economic systems are characterised by…

a) Monopolised supplies of most goods and services in the economy

b) Controlled prices of commodities, distribution and transport

c) Both of the above

d) Neither of the above

Answer: c

12.
Planned economic systems are characterised by…

a) Efficient allocation of resources and wealth to the population

b) Full individual property rights, asset trading and freedom of enterprise

c) Both of the above

d) Neither of the above

Answer: d

13.
True or false: At least in principle, planned economic systems should result in full employment, ‘zero’ per cent inflation and equal access for all to welfare

a) True

b) False

Answer: a
14.
Liberal economic systems are associated with…

a) Individual rights to own and trade property and assets fully recognised

b) Minimal intervention by the state in markets through regulation

c) Both of the above

d) Neither of the above

Answer: c

15. True or false: Social market economic systems typically combine all aspects of centrally planned and liberal economic systems.

a) True

b) False

Answer: b

16.
Social market economic systems typically…

a) Give priority to employment protection and welfare
access

b) Prioritise social justice or market reforms (depending on party in power)

c) Both of the above

d) Neither of the above

Answer: c

17.
True or false: The creation of business ‘empires’ relies on a complex network of relational ties and loyalties between politicians, business leaders and members of the public administration

a) True

b) False

Answer: a
18.
Which of the following statements reflects ways in which Asian models of capitalism differ from other models of capitalism?

a) The welfare state as it is known in Europe and the United States is virtually non-existent

b) The role of the state is often associated with giving a positive direction to the development of economic activities

Answer: b

19. 
Economic transition in Central and Eastern Europe was facilitated through…
a) FDI inflows from Russia to all former ‘satellite’ states

b) Strong leadership by governments to privatise on a large scale and liberalise their economies

c) Both of the above

d) Neither of the above

Answer: b

20. 
Economic transition in Central and Eastern Europe was enabled by…

a) Thorough reforms of political and legal systems following the collapse of communist rule

b) Appeal of EU membership and prospects of a more stable regulatory environment for businesses and investors

c) Both of the above

d) Neither of the above

Answer: c

21.
True or false: Economic transition in Central and Eastern Europe was assisted by FDI flows from the EU and other international investors in order to develop green field sites and restructure old industries (brown field sites) by offering significant cost advantages.

a) True

b) False

Answer: a

22. 
Which of the following statements characterises China’s market reforms?

a) The use of capitalist means to create prosperity within the existing state structure rather than creating a purely capitalist Chinese economy

b) A total liberalisation of its state-owned industries

c) Strong FDI inflows in export-oriented enterprise zones

d) a) and c)

e) All of the above

Answer: d

23.
Which of the following statements most accurately reflects major concerns with regional integration?

a) There will be too much trade creation

b) The European Union as a trading bloc has political ambitions to control world trade

c) Multinational enterprises, rather than SMEs, may take full advantage from regional agreements where there is a common external tariff on imports

d) All of the above

Answer: c

24.
The main features of the world’s least developed economies are…

a) Their independence from world trade

b) Their reliance on exports of basic commodities and raw materials, and some foreign aid

c) Both of the above

d) Neither of the above

Answer: b
25.
The main features of the world’s least developed economies are…

a) Their persisting record of unstable governance and unequal wealth distribution

b) Their weak political and judicial systems, often leading to social and ethnic unrest

c) Both of the above

d) None of the above

Answer: c

Short answer questions with guideline answers

1.
Outline some of the issues associated with comparing national economies.

a) Gross National Income or Gross Domestic Product data at country level provide useful information on the country’s capacity to generate income/wealth, however these are not as useful an indication of the prosperity of a country’s population as the GDP per person or inhabitant of that country

b) Per capita GDP or GNI figures are suitable for making comparisons particularly when they are adjusted for purchasing power parity (i.e., real living costs)

c) Per capita GDP or GNI figures are mere averages, which do not indicate the concentration of wealth in various sections of a country’s population

d) High income countries, such as Bahrain, UAE, Koweit or even Australia, with relatively low population are resource-rich, but their level of development depends on their economic structure, amongst others

e) Year on year percentage changes are good indicators of the dynamism of national economies, for example in terms of its economic growth linked to its industrialisation/development
f) …
2.
Highlight the main factors contributing to inflation but over which national governments have had little or no control.

a) Simultaneous interest rate level setting in different parts of the world

b) Rising prices in basic commodities (especially metals, foodstuffs) and energy caused by rapid increase in demand from major developing countries industrialising rapidly

c) Rising prices of manufacturing output even in low-cost countries - consequently to b) above and to demands by workers for higher wages in those countries

d) Dependence on imports and integration of country with the wider global economy (particularly through trade)

e) ...

3.
List the policy strategies national governments typically have at their disposal to combat unemployment.

a) Policies that encourage more entrepreneurs to start up business, or existing firms to employ more people through a range of incentives/schemes – many countries’ governments believe that, since SMEs are the majority of firms and provide much employment and some of them may become large or international players in their sector, one of the keys to combating unemployment is to provide them with incentives for employing more people

b) Invest in home-grown or domestic industries (through subsidies) to address sector unemployment

c) Adopt special incentives or schemes designed to boost national demand/consumption and, thereby, raise employment

d) Invest in education nationally (investment in training schemes and capital investment in infrastructure, for example), or by providing financial assistance to sectors where shortages of skills are identified

e) Target regional and structural imbalances in infrastructure development, skills, employment opportunities – thereby addressing most of the above points
f) …
4.
List some common criticisms associated with national economic systems.

a) In centrally planned economic systems all assets and means of production are owned and controlled by the state working according to a fixed plan; because the state has a monopoly-control over the supply and price of all goods and services, the allocation of resources according to the plan may be inefficient; competition, private ownership and private enterprise are inexistent

b) In liberal market economies the supply and demand as well as prices for goods and services are determined by market forces that are outside government control; of particular concern is that the low-tax and minimal regulatory constraints of this type of economic environment provide relatively poor protection of the unemployed and weak welfare provisions

c) In social market economies high corporate and income tax burdens as well as the intervention of the state in many economic sectors are often blamed for persisting weak growth, inflexibility in labour markets and generally high social/welfare costs

d) In ‘alliance capitalism’, which characterises Asian models of capitalism, foreign investors have often complained about both the overbearing role of the state in business affairs and the difficulty of forming durable partnerships with local firms emphasizing relational ties in business deals

e) In transition economies the vacuum created by the collapse of state controls over economic affairs has led to widespread corruption which has increased the risk for investors doing business there
f) …
5.
Outline the main issues in the economic environment of a retailing business seeking to expand internationally [e.g. Wal-Mart].

a) Continue to serve a large consumer market that is becoming more demanding and diverse

b) Continue to employ large numbers of people on low-level pay to keep staffing and operating costs low, and resist unions’ demands in many countries

c) Ability to compete with other providers while remaining distinctive in the competitive environment

d) Adapt the business model to different cultural contexts – using thorough market research

e) Adapt the corporate and business strategies to changing economic conditions for particular customer segments

f) Adapt organizational management and decision-making to suit local needs (relating to relationships with both suppliers and customers)

g) Devise strategies for market entry depending on the prevailing national economic system (e.g. consider Joint Ventures with the state, or acquisitions of smaller competitors...)
h) …

Multiple choice questions 

1.
Values, beliefs and assumptions in a national culture correspond to…

a) An understanding of what is right or wrong, legitimate, good, beautiful

b) An understanding of what is true and holy – most obviously expressed in religious beliefs

c) An understanding (and expectation) regarding the status and role of an individual in society

d) All of the above

e) Neither of the above

Answer: d

2.
The concept of nation is useful for defining a society because…

a) Similarity among people is both a cause an effect of national boundaries

b) Laws apply primarily along national lines

c) Both of the above

d) Neither of the above

Answer: c

3.
In countries with significant cultural minorities whose individuals may be economically and socially disadvantaged, social cohesion will tend to be…

a) Low

b) Medium

c) High

Answer: a
4.
Communication through language, or the means by which individuals in a group learn and interact with one another and with those outside the group, is…

a) Verbal

b) Non-verbal

c) Both of the above

d) Neither of the above

Answer: c

5.
In business relations in a ‘low-context’ culture the emphasis is on…

a) Interpersonal relations between partners in business rather than explicit communication

b) Clearly spelt out contractual arrangements in place between business partners

c) Both of the above

d) Neither of the above

Answer: b

6.
The country with the most lawyers and the highest number of layers per person is…

a) Argentina

b) China

c) Japan

d) The United States of America

Answer: d

7.
A problem with grouping countries by shared aggregate cultural attributes is that…

a) There is a tendency to expect more similarity than there really is

b) There is a disagreement on what makes up culture

c) Both of the above

d) Neither of the above

Answer: a

8.
Business managers find it difficult to analyse cultural differences on a country-by-country basis because…

a) Variations within a country are seldom significant enough to warrant such analysis

b) Variations within a country can be great

c) Both of the above

d) Neither of the above

Answer: b

9.
True or false: Similarities sometimes link groups from different countries (across borders)

a) True

b) False

Answer: a

10.
Body language (or kinesics) refers to…

a) A form of verbal communication

b) The messages from the way people walk, touch and move their bodies

c) Choreography

d) Tattoos

Answer: b

11.
In a culture that is high in collectivism, it can be expected that…

a) Individuals in groups will cooperate with each other

b) Different groups will cooperate with each other

c) Both of the above

d) Neither of the above

Answer: a
12.
In countries where uncertainty avoidance is low, companies need to be more precise in…

a) The quality of products and services they generate

b) Getting to know their business partners well before deciding to do business with them

c) Both of the above

d) Neither of the above

Answer: d

13.
Organisational culture is…

a) A set of values and beliefs shared, but often unstated, by members of an organisation

b) Usually discovered when members of an organisation learn to cope with external and internal problems arising in, for instance, a merger or takeover situation

c) Both of the above

d) Neither of the above

Answer: c

14.
In organisations from Asian cultures the emphasis in business relations will tend to be on…

a) Social codes of conduct rather than personal relationships

b) The contractual obligations set out by specific transactions

c) Both of the above

d) Neither of the above

Answer: d
15.
_________________ holds that there are universal standards of behaviour that should be upheld

a) Individualism

b) Idealism

c) Universalism

d) Collectivism

Answer: c

16.
True or false: In business practice, ‘safe’ and stable work environments tend to motivate collectivists while individualists tend to be more motivated by challenges

a) True

b) False

Answer: a

17.
Where organisational culture tends to emphasize process over results, management practice tends to be concerned more with…

a) Individual development and achievement within the organisation

b) The quality of outputs

c) Both of the above

d) Neither of the above

Answer: d

18.
True or false: Research has found that international companies from smaller countries tend to adopt a more polycentric perspective than their counterparts from larger countries
a) True

b) False

Answer: a
19.
Research has established that even highly internationalised companies may be influenced by their national cultural background notably through…

a) The governance structure, particularly the nationality of the directors on the boards

b) The financing and ownership structures, particularly the proportion of home investors

c) The location and management of key value-adding operations such as R&D

d) All of the above

e) None of the above

Answer: d

20. True or false: A weakening financial performance or loss of market share in a transnational company’s markets has no significant impact on the company’s perspective and marketing strategies

a) True

b) False

Answer: b

21.
In organisational culture, the elements that are most susceptible to change are…

a) The dominant organisational values

b) National culture background

c) Systems of communication

d) The corporate mission statement

Answer: c

22.
True or false: Ethnocentric companies tend to have a decentralised structure while polycentric organisations are more centralised

a) True

b) False

Answer: b
23. What will determine the success – in terms of social cohesion - of government approaches to multiculturalism is…

a) Enforcement of equal opportunities in education and employment for cultural minorities

b) Cultural relativism

c) Coercion or economic incentives as a means of integration

d) Restrictions on immigration

Answer: a

24. Which among the following most accurately reflects the ways in which the role of women in societies is changing?

a) Election and participation of more women in local and national government

b) Enforcement by government and business of equal right of access to education and employment

c) Both of the above

d) Neither of the above

Answer: b

25.
True or false: Although economic development is gradually bringing modern consumer lifestyles to developing countries, international companies present in those societies have found persisting cultural diversity and attachment to traditional values

a) True

b) False

Answer: a

Short answer questions with guideline answers
1.
Highlight the practical ideas derived from Trompenaars’ relational dimensions, which may be helpful to business people

a) In a number of Asian business cultures, emphasis is more on personal relationships and the whole person in business relations than on the detail of the contract between partners

b) In most Asian and African cultures the individual (employee) will tend to be subordinated to group values, and the organisational culture will as a result tend to emphasise the corporate identity (reinforced with visible symbols, such as uniforms, logos…)

c) In some western business cultures the focus in business deals is more on the specifics of the contract or legal aspects covering the transaction than on the relationship or interaction between persons

d) …

2.
Review the main components of organisational culture

a) Organisational culture tends to be influenced by the national culture of the country where the firm operates (notably the language and legal system)

b) Organisational culture is influenced by traditions and history of the firm itself in the wider (national) cultural environment

c) The company’s symbols, logos and brands

d) The company’s mission statement and prevailing corporate values

e) An approach suited to managing units/subsidiaries in relation to the company’s goals either in a unified – possibly centralised - way (ethnocentric), or in response to needs for adapting to diverse cultural environments (polycentric)

f) The organisation’s communication systems and associated procedural formalities (typically found through the bureaucratic structure of the organisation)
g) …
3.
The ethnocentric approach to managing cultural differences in international business consists of…

a) The home country’s company assuming a central role in terms of investor interest and key management decisions

b) Assuming that cultural differences in different societal groups overseas matter relatively little to the company’s operations

c) Assuming that the company’s management and organisational practices can work abroad just as well as in the ‘home’ or domestic environment

d) Believing that the home country’s corporate objectives should prevail so that national cultural differences in host countries can be overlooked

e) Assuming that any necessary changes in management or operational practices in host countries are relatively easy

f) …

4.
List some of the key aspects of culture that significantly affect a multi-national company’s competitiveness

a) Communication and language skills, which directly impacts on cross-border business relations and operations

b) Behavioural norms and values of the workforce in the host country (particularly the differing cultural needs of differing social groups in host countries, e.g. in relation to dress codes, food diets, religious practices…)

c) In relation to the home country’s company perspective, the organisational culture should favour a polycentric approach to managing operations and markets abroad (with strategies that are locally responsive to cultural differences and needs)
d) …
5.
Outline some of the significant societal changes that firms operating in environments culturally different from their own should take into account

a) Population distribution patterns and trends – particularly the urban/rural proportions and the degree of urbanisation

b) The degree of cultural pluralism and increased integration/access of cultural minority groups in political and economic/business life of the country

c) Population activity and sector focus – e.g. is there a decline in the primary/agricultural sector, pace of industrialisation or de-industrialisation, development of the services sector (including banking and financial services sector)

d) Education and training, and access to these – particularly by women

e) Economic participation and opportunities for access to management/executive positions – particularly by women

…

      

Multiple choice questions
1.
Which of the following definitions most accurately describes a political system? 

a) Structures for allocating power in a society

b) Structures and processes for making and administering laws

c) Structures for choosing leaders of a country

d) Structures and processes for keeping order in society

Answer: b

2.
Pluralism in a society consists of...

a) Allowing multiple religions to practise their beliefs

b) Allowing political parties to be formed and operate without hindrance

c) Allowing a free media

d) Allowing cultural, political and religious groups to flourish

Answer: d

3.
The essential difference between authoritarian and democratic governments is....

a) The existence of more than one political party

b) Elections at regular intervals

c) Accountability of rulers to the electorate

d) The existence of a national assembly

Answer: c
4.
Which of the following countries is the most democratic? 

a) Saudi Arabia

b) Sweden

c) USA

d) China

Answer: b

5.
Assessment of the depth of democracy in any country looks at which of the following? Choose two.

a)
Level of poverty

b)
Strong elements of civil society

c)
Free media

d)
Strong welfare state

Answer: b and c

6.
Why is an independent judiciary an important aspect of the separation of powers? 

a)
Because the judges can have the president removed from office for overstepping the law

b)
Because the judges are above politics

c)
Because the judiciary can exert influence on the executive to abide by the constitution

d)
Because the legislature sometimes passes laws which are not in the public interest

Answer: c

7.
Which of the following policies would not be typical in a leftwing political party? Choose two.

a) Strong employment protection laws

b) Privatization of state-owned industries

c) Recognizing the rights of immigrants

d) Restricting the rights of trade unions

Answer: b and d

8.
The two-party political system is said to be more stable than a multi-party system, but what are its drawbacks from a democratic perspective? 

a) Politics is dull, as both parties are similar.

b) Minority groups and interests tend to be under-represented.

c) There is likely to be voter apathy.

d) Politics tends to focus on personalities rather than principles.

Answer: b

9.
Which of the following reasons represents the greatest risk to stability in a coalition government? 

a) No single party has a mandate to govern on its own.

b) Smaller, focused parties can threaten non-co-operation to get their particular interests satisfied, risking dissolution of the coalition.

c) There are inevitably personality clashes.

d) There is little party discipline.

Answer: b
10.
Why does a weak civil society lead to political risk within a country? 

a) Because diverse interests have no legitimate outlet for dialogue, and unrest eventually erupts.

b) Because corruption becomes prevalent.

c) Because radical political movements exploit the situation to win support against the government. 

d) Because societies with weak civil society tend to be authoritarian.

Answer: a

11.
Which of the following countries is least corrupt? 

a) China

b) US

c) Japan

d) Poland

Answer: c

12.
Which of the following is the commonest source of political risk for international business? 

a) Risk of terrorist attack

b) Risk of takeover or interference by foreign governments

c) Risks associated with local militias in control in resource-rich areas

d) Risk of uprising by workers in outsourced operations

Answer: b

13.
Which of the following represents the most persuasive justification for the government owning or controlling companies? 

a) No risk of going bankrupt

b) Public interest priorities in corporate strategy

c) Greater efficiency than private enterprises, in which profit motives prevail

d)   Employees enjoy greater security in their jobs

Answer: b

14.
Which of the following is least conducive to encouraging enterprise within a national economy? 

a) Providing state training schemes

b) Making it easier to start up a business

c) Passing strong employment protection laws

d) Reducing taxation for SMEs

Answer: c

15.
What is the aim of national competition law? 

a) To prevent monopolies developing

b) To protect local industries

c) To promote fair competition

d) To keep out foreign businesses

Answer: c

16.
Which of the following are primarily within the sphere of the national legal system? Choose two.

a) Human rights

b) Company formation

c) Consumer protection

d) Maritime law 

Answer: b and c

17.
Intellectual property rights are most important in which of the following industries? 

a) Mining

b) Car manufacturing

c) Financial services

d) Internet and media

Answer: d

18. Which is not a valid statement regarding the current vulnerability of IP rights globally?

a) There is little firms can do to protect their IP, so it is pointless to try.

b) Many businesses have no scruples about infringing others' rights.

c) There is weak enforcement of IP rights in many countries.

d) There is little respect for the law generally.

Answer: a

19.
Which is the best approach for an MNE to take towards legal risk posed by different countries?

a) Become familiar with national laws in each location where the firm does business.

b) Rely on good lawyers to get the firm out of trouble if something goes wrong.

c) Set aside huge sums of money for possible litigation.

d) Do business only in countries with transparent legal systems.

Answer: a

20.
Assume an American company (P), based in Virginia, wholly owns a subsidiary (S) which operates in Costa Rica. Operations in Costa Rica, which are partly contracted out to a subcontractor (SC) lead to an accident in which personal injuries are caused to local people. Who can they sue for damages, and where? 

a) SC in Costa Rica

b) S in Costa Rica

c) S in Costa Rica and P in Virginia

d) S and SC in Costa Rica

Answer: c
21.
Further enlargement of the EU has faltered mainly because...

a) People are concerned about immigrants from accession states taking their jobs.

b) Delays have occurred in bringing in the new constitutional arrangements that are needed to streamline decision-making in EU institutions.

c) There is rising nationalist sentiment in EU member states.

d)  States which had applied to join are no longer interested.

Answer:  b

22.
In which of the following types of activity does international human rights law apply most directly? 

a) FDI

b) Supply chain management

c) Outsourced factory operations

d) Retail distribution

Answer: c

23.
Which of the following most accurately describes the lesson of the Bhopal disaster? 

a) Foreign investors should take tight control of operations in foreign countries.

b) Foreign investors should decentralize all decision-making for operations in foreign countries.

c) Litigation can be so long and costly that it is hopeless for victims.

d) Foreign investors should accept that legal accountability for their actions abroad can follow them back to their home countries.

Answer: d
24.
Authoritarian political systems are sometimes perceived as more stable places to do business than democratic ones. Choose the best explanation for this perception.

a) Authoritarian leaders are more forward-looking than democratic ones.

b) Authoritarian leaders have bigger armies than democratic ones.

c) Democratic leaders are too worried about pleasing many different interests.

d) Authoritarian leaders keep possible signs of social unrest and political dissent under control.

Answer: d
25.
For a global oil company, which of the following poses the greatest political and legal risks? 

a) Operations in the Gulf of Mexico

b) Operations in Nigeria

c) Operations in Alaska

d) Operations in Saudi Arabia

Answer: b
Short answer questions with guideline answers

1.
List some of the benefits democracy can potentially bring to society.

a) Positive channels for dialogue between government and citizens

b) Feeling of identity with the aims of the nation-state

c) Willingness of citizens to participate and take an interest in public issues

d) Sense of responsibility associated with citizenship is fostered in a democracy

2.
What should international managers take into account when assessing political risk in a particular country?

a) Whether there is substantive democratic participation

b) Whether government decision-making is transparent

c) Whether there is freedom for foreign firms to enter the country to do business and establish companies in their own names

d) Whether there is social stability within the society

3.
What aspects of a country's legal environment are of particular relevance to a foreign investor?

a) Whether the legal system is clear and processes are transparent

b) Whether courts are unbiased when there are foreign litigants

c) Whether there is government interference in the court system

d) Whether there is a body of contract law which potentially covers the types of activities contemplated

4.
What impacts does the EU have on cross-border business within the EU?

a) Easing restrictions on buying and selling across borders

b) Ease of shifting operations to another EU member state

c) Ease of hiring employees from another EU member state

d) Ease of obtaining finance from another EU member state

5.
In what ways does international law contribute to an MNE developing CSR strategies?

a)
International law creates benchmarks in areas such as labour standards and human rights.

b)
It encourages companies to view stakeholders in a global context.

c)
It can take the lead in encouraging national governments to improve standards, e.g. in environmental protection and climate change.

d)
It offers benchmarks for comparing MNEs in CSR strategies.


Multiple choice questions
1.
Which of the following best describes the main focus of exports for the world's advanced economies?

a) Services industries

b) High added-value manufacturing

c) High-technology products

d) High-value manufacturing and services

Answer: d

2.
Which of the following trends has impacted most on the advanced economies' roles in world trade?

a) The growing reliance on energy imports

b) The shift of manufacturing jobs to low-cost countries

c) The growth in demand for imported goods in developing countries

d) The rise of global markets in commodities

Answer: b

3.
Which of the following is not a factor in China's rapid ascent in importance in global trade? 

a) China is a low-cost economy. 

b) China's leaders have sought to attract FDI to promote industrialization in export industries.

c) China's business environment has facilitated the flourishing of foreign businesses.

d) Abundant migrant labour has been available.

Answer: c

4.
Which of the following areas of the world are falling behind in benefiting from global trade? 

a) Middle Eastern countries

b) Sub-Saharan Africa

c) Latin American countries

d) Eastern European countries

Answer: b

5.
What is the main limitation of the theory of comparative advantage? 

a)
It does not take into account the desire of countries to retain production in some sectors, even though they are not competitive globally.

b)
It assumes trade as a set of bilateral relations only.

c)
It assumes an equality between countries, when in fact they differ markedly in power.

d)
It is too simplistic, assuming national industries, although industries are now globally integrated.

Answer: a

6.
Vernon is credited with insight into the shift to low-cost production during the lifetime of a consumer product. However, his product life cycle theory is of limited value in today's world because...

a) All products are now launched globally, so the cycle does not follow Vernon's pattern.
b) Products now tend to progress more quickly through the stages than Vernon envisaged.

c)
It does not apply to high-tech products.

d)
It only applied when the US was where all new products were launched.

Answer: b

7.
In which of the following industries are first-mover advantages critical? 

a) Mobile phone manufacturing

b) Manufacturing of PCs

c) The passenger airline industry

d) The oil industry

Answer: d

8.
Which of the following phenomena are taken into account by newer trade theories, in contrast to earlier theories? 

a) The shift of manufacturing to low-cost economies

b) The role of FDI

c) Product differentiation

d) The IT revolution

Answer: c

9.
What are considered to be limitations of Porter's theory of competitive advantage? Choose two.

a) Little attention is given to the way a country's firms are managed.

b) The role of government is underestimated.

c) The MNE is seen as essentially in its home context rather than as a global player.

d) The theory pays too little attention to factor conditions.

Answer: b and c

10.
Which of the following countries ranks the highest in national competitiveness? 

a) Russia

b) Switzerland

c) China

d) Germany

Answer: b

11.
What is the best reason for holding that protectionism practised by governments is likely to be counter-productive? 

a) Because protecting weak industries does not help to strengthen them

b) Because other countries are sure to retaliate

c) Because it is bound to favour some industries over others

d) Because it often does not work in the global economy

Answer: a

12.
How can trade policy best be used to promote domestic employment? 

a)
By restricting imports in industries which employ large numbers of people

b)
By subsidizing local industries, in order to maintain large workforces

c)
By encouraging local industries to produce both for home consumption and export

d)
By requiring government procurement to purchase local products only

Answer: c

13.
What is the main threat to the WTO's multilateral approach at present? 

a) Global imbalances in trade

b) A rise in protectionism

c) Rising regional integration

d) Rising numbers of bilateral agreements

Answer: b

14.
Which of the following best describes what the Doha round hope to achieve? 

a) A steady decline in tariffs on manufactured goods

b) Means of liberalizing trade to benefit developing countries

c) Opening of agricultural markets

d) Reduction in trade-distorting practices of governments

Answer: b
15.
In which circumstances should an importing country consider negotiating a voluntary export restraint (VER) with a trading partner? (Choose one.)

a) Where the government wishes to curb imports but without the bureaucracy of import quotas

b) Where the government is aware that the exporting country would find ways to bypass import quotas, reducing their effect

c) Where the exporting country is an important trading partner, and the importing country fears retaliation if it imposes import tariffs

d) As an alternative to an anti-dumping action

Answer: a

16.
Which of the following best describes the advantages of the WTO's dispute resolution procedure?

a) It benefits small countries, which have little expertise in negotiating on their own with larger countries.

b) It allows countries to negotiate the settlement of trading disputes.

c) It allows retaliatory sanctions to be imposed, deterring countries from breaking WTO rules.

d) It 'names and shames' countries breaking WTO rules. 

Answer: b

17. Bilateral trade agreements are multiplying. Choose the main reason among the following: 

a) Governments have given up hope of achieving new multilateral agreements.

b) Economically powerful countries see them as a way of imposing terms favourable to themselves on weaker countries.

c) Countries wish to build networks of trading partners to secure future imports and ensure future markets for their exports.

d) Governments can use them to insert a variety of non-trade clauses, such as clauses on FDI.

Answer: c
18.
What are the benefits of an export processing zone (EPZ) for a domestic company in the country where it is located? 

a) The EPZ leads to liberalized trade rules being introduced in the country as a whole.

b) The EPZ leads to spillover effects from businesses in the EPZ.

c) The EPZ offers access to foreign markets.

d) The EPZ attracts outside investors, which indirectly benefit the country, as greater prosperity means that more money will flow to the country's domestic companies.

Answer: b

19.
Which of the following represents the deepest level of regional integration? 

a) Economic union

b) Political union

c) Common market

d) Free trade area

Answer: b

20.
In what way has Nafta benefited Mexico? (Choose one.)

a) It has led to industries setting up near the border with the US.

b) It has led to higher labour and environmental standards in Mexico's industries.

c) It has led to higher living standards.

d) It has opened up the border between the US and Mexico for both goods and people.

Answer: a
21.
What factor among the following has held up the progress of regional free-trade initiatives in Asia?

a) There is huge disparity in wealth and levels of economic development among Asian countries.

b) Asian leaders are mainly concerned with domestic issues.

c) The countries in the region are diverse in history and culture.

d) The countries in the region prefer bilateral agreements to regional ones.

Answer: a

22.
Which of the following statements best explains why EU membership has benefited firms in the new member states of central and eastern Europe?

a) The firms find it easier to access markets in the EU15. 

b) These countries have attracted FDI from western Europe.

c) These countries have gained from EU funding.

d) These countries' citizens now find it easier to travel to the EU15 countries to work.

Answer: a

23.
Why is China's approach to trade relations with African countries sometimes criticized, even though China offers benefits to the trading partner? 

a) Because Chinese firms deal with authoritarian rulers.

b) Because it is lopsided, designed to serve Chinese interests rather than those of the partner country.

c) Because the Chinese are oblivious to human rights concerns.

d) Because few local people are hired.

Answer: b
24.
Several new member states of the EU are keen to join the eurozone. What is the main reason? 

a) Their own currencies are volatile.

b) Their economies are converging with the eurozone.

c) They will receive more funding from the EU if they do.

d) It will facilitate business, due to the elimination of foreign exchange risk.

Answer: d

25.
Which of the following best describes the hoped-for benefits of regional integration in Africa?

a) A free-trade area would bring political stability.

b) Intergovernmental co-operation helps to foster economic development.

c) A free-trade area would open new markets.
d) The governments of the continent desire a forum to discuss global issues.
Answer: b

26.
As trade becomes more subject to government intervention, what is the best advice you could give a company in the global car industry? 

a) Examine links in the supply chain to find points where intervention is a possibility, and formulate alternatives.

b) Source raw materials and manufacture only in states where intervention is highly unlikely.

c) Do deals with governments to prevent any intervention taking place.

d) Appoint a political liaison officer in each location, to monitor political trends.

Answer: a
Short answer questions with guideline answers
1.
What are the most important functions of trade in the national economy?

a) To afford opportunities for expansion to the country's exporters and importers.

b) To satisfy consumer markets with a wide range of both domestic and foreign products.

c) To provide jobs in industries which export and those which provide services to exporters.

d) To generate revenues for the government.
e) To provide for a country's strategic needs.
2.
List the trends now occurring in world trade.

a) Shrinking share of the established advanced economies in world trade.

b) Rise of large emerging economies.

c) Rising importance of countries rich in energy and mineral wealth.

d) Growing importance of developing and transitional economies, as low-cost manufacturing centres.
e) Reduced share of North America in world trade, mirrored by the rise in Asia's share.
3.
Why is global competitiveness now a preoccupation for both countries and firms? 

a) Increasingly, markets are becoming global, for example, the oil industry, car manufacturing.

b) Transport and communication advances now mean that consumers and firms can access global markets to satisfy their needs.

c) As the risks in the global economy become evident, the company which has operations in a number of locations is able to compensate for a problem in one by shifting to another.
d) Increasingly, firms seeking FDI locations scan the globe, implying that countries are drawn into competition for investors with countries worldwide.
4.
List the ways in which governments intervene in their country's trade relations.

a) Governments can impose restrictions and tariffs on both imports and exports, as national needs require.

b) Governments can impose substantive requirements, such as safety standards, on imports, which can act as a trade barrier.

c) Governments can negotiate trade deals with other sovereign states, helping to build trade relations and diplomatic ties at the same time.

d) Governments can pay subsidies in domestic industries with an export orientation, thus enhancing their competitiveness in global markets. 

5. 
What are the main activities of the WTO? 

a)
The WTO lays down rules for international trade, based on the GATT principles, including the most-favoured nation principle.

b)
The WTO provides the structure for negotiating multilateral liberalization of trade. The successive 'rounds' of negotiations involve potentially all member states (numbering over 150).

c)
The WTO provides a dispute resolution procedure for settling trade disputes between countries, supported by expert panels. 

d)
The WTO monitors and assesses trends in world trade. 
e)
As one of the Bretton Woods organizations, it is one of the major inter-governmental institutions, along with the IMF and World Bank, which form the framework of international governance.


       Multiple choice questions
1.
Which among the following is the best entry strategy for a firm wishing to sell luxury cars in a large emerging market? 

a) Production under licence by a local company in the host country

b)
FDI

c) Export

d) Acquisition of an existing company

Answer: c

2.
What is the main benefit of acquisition as an entry strategy when a company enters the market later than competitors? 

a) It gains from the local company's experience in the market. 

b) It is usually the best way to establish market share quickly.

c) The acquired company has experienced managers in place.
d) The foreign company can simply take over existing operations.
Answer: b

3.
Which of the following will be the main motives for a foreign firm seeking to manufacture its vacuum cleaners in China? Choose two. 

a) Proximity to raw materials

b) Low-cost production

c) Access to China's large consumer market

d) The R&D skills emerging in China

Answer: b and c

4.
What is the main benefit of a joint venture as an entry strategy? 

a) The preference of some governments for joint ventures to boost local companies

b) Access to the local partner's knowledge of the market

c) The existing market enjoyed by the local partner

d) The opportunity to transfer technology to the local partner

Answer: b

5.
What is the main benefit of the PEST analysis for location decision-making? 

a)
It covers all aspects of the business environment.

b)
It is easy to remember.

c)
It covers the main aspects of the business environment.

d)
It is certain to reveal key aspects which will influence decision-making.

Answer: c

6. 
For a company seeking a location to manufacture consumer electricals such as kettles and hairdryers, which of the following is most important in choosing a country? 

a)
The availability of skilled workers

b)
The size of the local market

c)
The presence in the country of similar companies already

d)
The incentives offered by the government to encourage FDI

Answer: d

7.
Which of the following would not be revealed by a SWOT analysis?

a) The firm's organizational culture

b) Rival firms' organizational cultures

c) The current state of the market for the firm's products

d) The firm's marketing strategy

Answer: b

8.
Emerging MNEs from developing and transitional economies are becoming more active in outward FDI. What main motives lie behind this trend? Choose two.

a) They seek new markets to generate growth.

b) As many are state-owned, they are aided by government support.

c) They face considerable bureaucracy at home, and welcome opportunities in more open markets abroad.

d) They are becoming involved in global production networks.

Answer: a and d

9.
According to Barney's resource-based theory of the firm, what are the criteria for a firm-based resource?

a) It must be valuable, rare and difficult to imitate.

b) It must be imperfectly imitable, valuable, and without a strategic equivalence.

c) It must be valuable, rare, imperfectly imitable and not susceptible of substitution by a competitor.

d) It must be imperfectly imitable, valuable and socially complex, making it difficult to imitate.

Answer: c

10. For an internet company, which of the following would be the most valuable firm-based resources? 

a) The company's headquarters

b) The company's creative talent

c) The company's corporate culture

d) The company's geographic location

Answer: b
11.
Core competencies focus on which of the following?

a) Individuals with the greatest skills

b) Collective skills and learning in the organization

c) Leadership by the most skilled people in the organization

d) Teams based on skills in the organization

Answer: b

12.
Core competencies can best be nurtured in what type of organization? 

a) Decentralized, semi-autonomous units

b) The multidivisional company based on geographic divisions

c) The company which outsources production

d) The centralized organization

Answer: d

13.
Why is the value chain as a concept key to globalization?

a) Because it pertains only to global industries

b) Because it relates to the links between different stages of global production

c) Because it relates to cross-border dealings

d) Because it involves cross-ownership of shares in different companies

Answer: b

14.
The global model of the multidivisional company suits which type of company? 

a) A large vertically integrated company

b) A company with a strong corporate culture

c) A bureaucratic company

d) A company with few product lines

Answer: a
15.
The transnational model of multidivisional company benefits from...

a) A single global strategy

b) A combination of central co-ordination and local responsiveness

c) Decentralized management and local strategy

d) Centralized management and strategy

Answer: b

16.
What is the main drawback of the matrix structure? 

a) It works only in small organizations.

b) It fails to implement a global strategy.

c) Dual reporting channels become too cumbersome. 

d) It does not suit companies with large R&D departments.

Answer: c

17.
The growth of the network organization reflects which of the following trends? 

a) The rise of the internet

b) Growing awareness of the firm in its broader environment

c) Flatter organizational structures

d) Growing emphasis on relations rather than structures

Answer: d

18.
How can a company within a cluster make the greatest gain from the opportunities?

a) Find out what similar companies are doing and copy them.

b) Promote exchange of knowledge and interaction with others in the cluster.

c) Rely on others in the cluster to build awareness among consumers, which you can benefit from.

d) Take advantage of R&D and technology among the firms, so as not to have to carry out your own.

Answer: b

19.
What characterizes the arm's length environment in Whitley's theory of firms and networks? 

a) Weak institutions and individualistic behaviour

b) Strong institutions and emphasis on relational ties

c) Strong institutions and emphasis on procedure

d) Weak institutions and strong relational ties

Answer: c

20.
What kind of firms are likely to emerge in developing countries, according to Whitley's theory? 

a) Ethnocentric firms

b) Family firms

c) Entrepreneurial firms

d) Polycentric firms

Answer: b

21.
All but which one of the following are characteristics of the Japanese keiretsu?   

a) They are loosely formed groupings.

b) They involve cross-shareholdings.

c) They are based on family and kinship ties.

d) They are centred round a main bank.

Answer: c

22.
What is the main disadvantage of shock therapy as a means of organizational change?

a) It is not as likely to be accepted by the workforce as incremental change would be. 

b) There are few people who have the leadership ability to make it successful.

c) It is not likely to be acceptable to the shareholders.

d) It can backfire in some organizations.

Answer: d

23.
Why does the South Korean government seek to reform the chaebol?

a) Because their family structures have led to inefficiencies.

b) Because they cannot compete globally.

c) Because they are too market-oriented.

d) Because they have poor employee relations.

Answer: a

24.
In which circumstances is incremental change the most appropriate for the organization? 

a) Where the firm's product portfolio has not kept up with competitors.

b) Where the company's procedures have become too complicated.

c) Where the company's brand reputation has suffered from quality problems.

d) Where the board of directors has become dissatisfied with the CEO.

Answer: b

25.
Which of the following is the best advice for an established MNE which is losing out in global markets to more agile, newer companies? 

a) Foster entrepreneurial initiatives throughout the organization.

b) Streamline the company's structure.

c) Try to hire a new CEO from one of the newer companies.
d) Allow subsidiaries greater autonomy, to encourage new ideas.
Answer: a

Short answer questions with guideline answers

1.
Assess entry strategies in terms of ownership configuration.

a) Export involves no ownership of assets in the foreign location.

b) Outsourcing involves no ownership of foreign assets, but the company carrying out manufacturing will have a licence to use IP of the brand owner.

c) FDI involves ownership of foreign assets, either wholly or partially. 
d) The joint venture involves an ownership stake in the new company formed, which can vary in size.
2.
List the types of characteristics which the PEST analysis for choosing location will reveal.

a) Political system and political risk in the country, including internal governance, depth of civil society and relations with neighbouring countries.

b) The nature of the country's economy, including its economic system, its performance, labour markets, and level of skills.

c) The country's socio-cultural environment, including language, social and ethnic groupings, religious groups and social structure.

d) The technological environment, including innovation capacity, education and science, research institutions and technological achievements.

3.
In what ways does the resource-based view of the firm contribute to building competitive advantage?

a) The central theory, mainly the work of J. Barney, encourages the company to focus on assets, including physical, organizational and human.

b) It encourages managers to look more deeply into the key attributes of the asset which leads to competitive advantage: it is valuable, rare, imperfectly imitable and not susceptible to substitution. 

c) The resource-based view also benefits from a social dimension, such as relations with stakeholders.

d) Prahalad and Hamel's theory of core competencies falls within this theoretical approach. It urges a focus on competencies rather than products. This focus leads to sustainable competitive advantage.

4.
Explain why the growth of networks is a trend in the era of globalization. 

a) Globalized production requires co-ordination both within the firm (in its different locations) and between firms. Networks are a logical means of achieving this co-ordination.

b) Companies now have to be more agile and flexible to compete globally. The network orientation allows rapid responses to changing demand and changes in the environment. 

c) Flexible mass production, which has transformed manufacturing of complex products, has a strong network orientation, in its emphasis on employee empowerment.
d) Interfirm networks have spread in conjunction with the changing competitive environment, in which companies now often see co-operative arrangements as part of their global strategy.
5.
What types of organizational change are implemented in order to gain in global competitiveness?

a)
Incremental changes, while not headline grabbing, consist of the continuous improvements which make a company's products competitive over the long term.

b)
The radical turnaround, which changes structure and strategy, is needed if the company has found that its products have been left behind by advances in technology.

c)
The organizational change which is occurring in companies from emerging economies focuses on becoming more market-oriented and professionally managed. These changes involve a change of corporate culture.
d)
The organizational change which takes place in a company as it expands and internationalizes can result in the company losing its entrepreneurial edge as it becomes more bureaucratic. For this company, there is a need to maintain an entrepreneurial culture and focus on innovation.  

     
Multiple choice questions
1.
The highest level of marketing in the firm involves which of the following?

a) Marketing mix

b) Identification of target markets

c) Corporate culture

d) Product portfolio

Answer: c

2.
For which of the following products is a single global marketing strategy appropriate?

a) Car components

b) Mobile phones

c) Sportswear

d) Manufacturer of snack foods

Answer: a

3.
How can the global marketing strategy take account of local differences?

a) By choosing products to target particular markets.

b) By adopting a broad strategy at the global level and adapting it in individual markets

c) By adopting a global product strategy and allowing local subsidiaries to choose which products to target at their markets

d) By building a strong brand which resonates in all markets

Answer: b

4.
Which of the following is a pull factor for expanding into new markets? 

a) Saturation in the home market

b) Large growth potential of new markets

c) Regulatory burdens in the home market

d) High costs in the home market

Answer: b

5.
Which of the following is not a macro-level indicator of market potential in a country?

a)
Demographic indicators

b)
Cultural environment

c)
Political environment

d)
Rate of economic growth

Answer: b

6.
Which of the following best describes a country's consumer market?

a)
Aggregate of needs and desires of consumers in the country

b)
Pattern of consumption within a country's consumers

c)
Economic level of a country's consumers

d)
Pattern of buyer behaviour within a country

Answer: a

7.
Which of the following markets has the best potential for a new shopping mall?

a)
A large emerging market where most consumers have cars, but the government, concerned about pollution, now wishes retail development to be located in the cities.

b)
A transition economy where growing lower-middle-class consumers are keen to shop at large format discount stores such as hypermarkets

c)
A large emerging market where the government favours the building of out-of-town centres, although most consumers depend on public transport.

d)
A small oil-rich economy where wealthy shoppers are eager customers of western-style shopping malls.

Answer: d
8. 
Which of the following segments is most likely to be targeted by a mobile phone company?

a) Middle-class professionals

b) The 18-30 age group

c) Women

d) University students

Answer: b

9.
Which of the following would not be considered a niche market?

a) Organic products

b) Spanish-language broadcasting

c) Clothes retailer specializing in extra-large sizes

d) Islamic financial products

Answer: b

10.
A joint venture as an entry strategy would be most appropriate for which of the following businesses?

a) A bank wishing to expand into a developing country

b) A hypermarket retailer in an emerging market

c) A fast-food company entering a developing country.

d) A luxury boutique

Answer: b

11.
What are the main advantages of licensing as an entry strategy into foreign consumer markets? (Choose one.)

a) It ensures quality control.

b) The licensor makes more profits than it would by exporting.

c) It involves less capital investment than a greenfield operation.

d) It protects the licensor's trademarks. 

Answer: c
12.
In which of the following businesses is the joint venture not an appropriate choice for market entry?

a) An internet company entering an emerging market.

b) A manufacturer of small family cars for consumers in an emerging market..

c) A telecommunications company wishing to enter a developing country

d) A supplier of gas to retail consumers in an emerging market.

Answer: a

13.
Which of the following best describes the product from a marketing perspective? 

a) The tangible goods supplied by a company to the customer.

b) The combination of the tangible goods and services which satisfy the consumer's needs.

c) The goods, services and image which the company sells to customers.

d) The goods and services which the company sells to customers.

Answer: b

14.
What are the greatest benefits to a company from a strong brand?

a) It automatically leads to stronger sales.

b) It contributes to building a relationship with consumers, which leads to brand loyalty.

c) It protects the company against counterfeiters.

d) It is easily recognizable.

Answer: b

15. All but which one of the following explains why consumers are willing to pay more for a product bearing a global brand? 

a) Because they wish to buy into the brand's image.

b) Because lesser brands are hardly ever available.

c) Because they see it as a guarantee of quality.

d) Because they associate the brand with CSR.

Answer: b
16. When an MNE is contemplating products for emerging markets, which is the most important consideration among the following? 

a) The product must be low-cost, as it will compete against local products.

b) The product should suit the local conditions and be offered at a price consumers can easily afford.

c) The product must be distributed through local channels.

d) The product must be advertised in ways to reach local consumers.

Answer: b

17. The private brand, or own-label product, is growing in popularity in consumer goods markets. What is the main reason? 

a) Consumers have turned against some global brands as they represent globalization.

b) Consumers cannot afford the branded products.

c) Consumers think that the own-label product works as well as the branded one, and is cheaper.

d) Retailers have become clever at packaging their own products as branded goods.

Answer: c

18.
Which of the following aspects of the marketing mix specifically focuses on the product itself? 

a) Packaging

b) Advertising

c) Launch offers

d) Retail outlets

Answer: a

19.
Promotion as a marketing tool covers all but which one of the following? 

a) Television advertising

b) Discount offers

c) Celebrity endorsements

d) Website activities

Answer: b

20.
Which promotional strategy among the following would be best suited to market a carbonated beverage in a developing country? 

a) Television advertisements

b) Billboards

c) Internet advertising

d) Newspaper advertising

Answer: b

21.
For a new product launch, what is the best pricing policy among the following?

a) Set a premium price, and justify it by emphasizing premium quality.

b) Set a premium price, which can be lowered later if it does not sell well.

c) Set a promotional price to attract customers away from competitors.

d) Set the price low, aiming to raise it later, once sales are growing well.

Answer: c

22 .
What are the main advantages of vertical integration for international distribution? Choose two.

a) It achieves greater control than would be possible using contractors.

b) It makes it easier to reach a wide variety of different locations.

c) It is quicker than distribution by contractors

d) It reduces transaction costs.

Answer: a and d

23.
Which of the following characterizes the main distribution advantages of the hypermarket retailer?

a) It is is adaptable to differing local environments.

b) It enjoys economies of scale.

c) It can respond quickly to changes in consumer demand.

d) It offers a wide range of own-brand products.

Answer: b
24.
What principles should guide an ethical marketing strategy?

a)
Communication with consumers, to inform them about the company's products.

b)
Compliance with the law in each national market.

c)
Principles of honesty, transparency and fairness.

d)
Visualizing ethical standards as varying with each national market.

Answer: c

25. Which of the following recommendations on ethical marketing would be most appropriate for a company which specializes in chocolate and other snack foods? 

a) Design advertising to emphasize that the product should be part of a healthy diet.

b) Change over to healthier products.

c) Ignore the health implications, as people will want these products regardless of health issues.

d) Focus on markets where ethical issues are not prominent.

Answer: a
Short answer questions with guideline answers

1.
List key influences on marketing in the organizational context.

a)
The company's corporate culture and history influences its approach to marketing.

b) The company's competitive strategy helps to determine which markets it targets.

c) Whether the company is centralized or decentralized affects its marketing strategy.
d) The company's portfolio of products influences which markets and which segments to target.
2.
Assess differing types of marketing strategy suitable for international markets.

a) The single global strategy, while attractive in theory, is not suitable for most products, as differences in consumer markets must be taken into account.

b) For a firm which focuses on global product categories, a global strategy can encompass different adaptations of a product for different markets.

c) A multidomestic strategy is suitable in decentralized companies, where local managers can decide on products and appropriate marketing for the local market.
d) A regional strategy is sometimes appropriate, where there are similarities between countries in the same region.
3.
List market entry strategies, along with relevant circumstances in which they are appropriate. 

a) Export, direct or indirect; suitable as a first option to try, with possible further commitment to follow.

b) Acquisition or joint venture both involve ownership; suitable for a company wishing to gain knowledge of the foreign market. Both are ways of building market share relatively rapidly.

c) Strategic alliance involves co-operation with another organization in entering the market, often where the partner organization has local knowledge or links.

d) Manufacturing under license allows the firm with IP rights (patents and trademarks) to contract with local producers to have products manufactured in the host market by local producers. Pharmaceutical companies enter markets in this way.

4.
Assess the main factors influencing products and brands in international markets. 

a) Local conditions and preferences influence the types of products and level of prices which are suitable in different markets.

b) Brands may be global or local. The global brand owner is typically competing with local brands, and must offer consumers added value, quality guarantee or simply appealing image, to make market inroads.

c) Large MNEs often have a wide portfolio of products and brands (including sub-brands) for differing markets, linked by a global strategy.
d) Emerging markets are now the most appealing markets for MNEs wishing to expand, due to their huge market potential. Localizing products helps MNEs to compete against local products and brands.
5.
List the considerations which MNEs should take into account in designing an ethical marketing strategy. 

a)
An ethical stance must be clearly based on principles, which are implemented in practice. If the company fails to follow through with actions, it will suffer reputational damage.

b)
Ethics covers a wide variety of topics, which should all be taken into account. These include product safety, honesty in advertising, use of raw materials from sustainable sources and accurate labelling of products.

c)
When a problem is discovered in the company's products or advertising, it should take steps immediately to deal with it, for example, by recalling the product. 
d)
The company should avoid double standards: the products sold in developing and emerging markets should be the same as the products sold in developed countries where consumers demand high ethical standards. Reputational damage can result if consumers suspect that the company has lower standards in countries where rules (such as for advertising) are lax.

Multiple choice questions

1.
Why is HRM considered to be a broader subject than personnel management?

a) HRM is about human resource management, which is the same everywhere.

b) HRM looks at the role of the employee in terms of organizational goals and culture.

c) Personnel management involves only systems of staffing and recruitment.

d) Personnel management involves systems which can be applied everywhere.

Answer: b

2.
IHRM concerns all but which one of the following dimensions? 

a) The firm's corporate strategy

b) Environmental factors in different locations

c) Employee relations in different locations

d) The firm's corporate governance

Answer: d

3.
How can the resource-based model of the firm contribute to IHRM strategy? 

a) By focusing on the resources and competencies both at home and in host country subsidiaries.

b) By focusing on the capabilities of subsidiaries.

c) By focusing on ways in which firm-specific resources can be maintained in the home country.

d) By distinguishing between resources in the home country and those in foreign subsidiaries.

Answer: a
4.
Which of the following characterizes the polycentric firm? 

a) Subsidiaries guided from the centre through collaborative systems

b) Little control from the centre and systems which reflect local conditions

c) Centralized structure but local responsiveness in practice

d) Interdependence between centre and subsidiaries

Answer: b

5.
In which kind of company would you expect to find extensive use of expatriates? Choose one.

a)
A decentralized organization

b)
An organization with strategy determined by the centre, but with local freedom to interpret it

c)
An organization based on the transnational model of Bartlett and Ghoshal

d)
A highly centralized organization with little adaptation to local conditions

Answer: d

6.
An individualist cultural environment is likely to be characterized by which of the following? 

a)
Paternalistic relations between managers and employees

b)
Emphasis on employment contract to define employee obligations

c)
High power distance

d)
Little scope for employee initiatives

Answer: b

7.
Among the following national institutions, which is the most influential in HRM? 

a) Legal framework for employee protection 

b) Corporate governance

c) Consumer protection law

d) Criminal justice system

Answer: a

8.
Which of the following roles would you expect to be taken by parent-country nationals (PCNs) as part of an MNE's staffing policy? 

a) Supervision of local operations

b) Co-ordination between subsidiary and head office

c) Liaison with the community in the host country

d) Negotiations with local workers when an operational problem arises

Answer: b

9.
Recruitment for a job which involves working in the company's different international locations would focus on which of the following criteria?

a) Educational qualifications

b) Cross-cultural skills

c) Management experience in the home country

d) Age

Answer: b

10. Performance-related pay would be most appropriate in which of the following types of environment? 

a) A collectivist culture

b) A family business

c) An individualistic culture

d) A paternalistic culture

Answer: c

11.
Work-life balance is best defined as...

a) The ability of a worker to work at home

b) The ability of a worker to choose his/her own hours of work

c) The distinction between a '9-to-5' type of job and one which has flexible hours

d) Division of a person's life between work and personal activities

Answer: d

12.
How should MNEs design appraisal systems to deal with differing environments? 

a) Rely on local managers to design whatever appraisal system they think fit in each subsidiary.

b) Apply formal systems everywhere in the organization, but use local managers to carry out interviews in foreign subsidiaries.

c) Apply a single appraisal system across the entire company, regardless of location.

d) Set goals at the centre, and adapt formal and informal processes to local cultural environments.

Answer: d

13. How has the function of training and development evolved in the international context? 

a) It now adapts to differing cultural environments.

b) It now focuses more on skills than personal development.

c) It is now managed at local level, and focuses on local needs.

d) It now looks more at corporate goals than individual goals.

Answer: a

14.
Which of the following best defines socialization within the MNE? 

a) Processes by which employees learn about the parent company's home culture.

b) Processes by which employees assimilate the corporate culture.

c) Rituals and language which distinguish the company and bond together its employees.

d) Activities such as outings and social events which help staff to get to know each other.

Answer: b
15.
All but which one of the following involves employee participation in the way the company is run? 

a) Trade unions

b) Seats on the board

c) Employee empowerment initiatives

d) Works councils

Answer: c

16.
Employee empowerment initiatives encompass all but which one of the following? 

a) Self-managing teams with power to take decisions

b) Individual responsibility for decisions, with control over resources

c) Formal management consultation processes with employees

d) Consultation with trade unions 

Answer: d

17.
What types of activity are carried out by a works council? 

a) Formulation of corporate strategy

b) Consultation over possible redundancies

c) Scrutiny of corporate finances

d) Scrutiny of the CEO

Answer: b

18.
Why has trade union membership declined in many developed economies? Choose the most valid reason.

a) Because so much progress has been made in achieving good terms and conditions.

b) Because employers refuse to let them operate in their workplaces.

c) Because trade unions reflect attitudes typical of manufacturing industries, which are now no longer relevant in service-based economies.

d) Because workers are sceptical about what trade unions can achieve.

Answer: a
19.
Why is trade union activity often constrained in developing countries with authoritarian governments? 

a) Because working conditions are controlled by the government, rather than employers.

b) Because trade unions are perceived as fomenting political dissent.

c) Because workers are not interested in achieving better conditions.

d) Because employers refuse to recognize trade unions.

Answer: b

20. 
Which description best captures the role of the transnational manager?

a) Manager able to communicate the company's goals in each foreign location.

b) Manager steeped in local cultural environment.

c) Manager able to work in diverse cultures.

d) Manager able to understand local cultures and co-ordinate disparate units.

Answer: d

21.
Which type of team is most likely to come up with new ideas? 

a) A team made up of people from different functional areas of the business.

b) A team made up of people all from the same cultural background.

c) A culturally diverse team which also includes people from different functional areas.

d) A team with a strong leader.

Answer: c

22.
How can the cross-cultural team work most effectively?

a) By first agreeing roles and methods of reaching decisions.

b) By encouraging everyone to speak up.

c) By structuring meetings rigidly.

d) By refusing to let a strong leader take over.

Answer: a
23.
In the international joint venture, all but which one of the following sets of relations are crucial? 

a) Relations between the two parents.

b) Relations between the dominant partner and the environment of the new firm.

c) Relations between the new firm and its environment.

d) Relations between each parent and the new firm.

Answer: b

24.
What is the best policy for insuring the new firm created by the joint venture grows strong and independently viable? 

a) Letting the new firm develop its own HR policies.

b) Adopting the HR policies of the dominant parent firm.

c) Determining strategy by agreement between the parents.

d) Appointing the new firm's senior managers from those of the parent firms. 

Answer: a

25.
In an acquisition of one company by another where a restructuring is involved, which of the following HRM implications are the most important? Choose two.

a) The new owner should put in place its senior managers.

b) The new owner should consult employees of the acquired company on the new roles and responsibilities.

c) The new owner should take account of cultural sensitivities in the acquired company.

d) The new owner should impose its own HR policies as soon as possible to avoid uncertainty arising.

Answer: b and d
Short answer questions with guideline answers
1. 
List the main strategic issues involved in IHRM.

a) The firm's internationalization strategy impacts on its HR strategy. It it chooses a greenfield investment, it can devise its own HR strategy, but if it acquires another company, it must take into account that firm's existing policies.

b) The firm's competitive strategy helps to mould HR strategy. If the firm chooses low-cost locations, it is highly sensitive to issues of cost.

c) Whatever the location of operations, the firm's HR strategy will be influenced by the cultural and legal environments. 

d) The resources and competencies of the local subsidiary can contribute to the achievement of the parent company's corporate goals. 

e) The MNE may take a polycentric, geocentric or ethnocentric approach to relations between the parent and subsidiary. In the polycentric firm, the parent company will adapt more to local cultural values, whereas the ethnocentric firm will be more centralized. An integrative approach reflects a geocentric perspective of parent-subsidiary relations. This approach combines local responsiveness and global strategy.

2.
Assess the factors within national environments which influence HRM policies and practices in the country.

a) The dimensions of the cultural environment are influential. In particular, power distance, individualism v. collectivism, and level of uncertainty avoidance in each country, influence HRM in a country. For example, reward systems which focus on monetary rewards are more likely to flourish in more individualistic cultures.

b) Organizational cultures, which tend to reflect national cultures, are important influences. For example, hierarchies are typical in high power distance environments.

c) Religious influences are important in many national environments, and influence HRM.

d) Institutional frameworks in a country are influential on HRM. For example, the legal protection of employees, and legislation on health and safety at work must be complied with.
e) The institutional environment includes both formal and informal elements. Approaches to social welfare and health provision differ markedly between countries. In some, the state is seen as the main provider, while in others, the employer takes a stronger role. Hence, in some countries, health insurance is seen as an important element of the employment contract. 
3.
Assess the main channels through which employee relations take place.

a) Employee empowerment initiatives allow employees to take responsibility for decision-making and resources in specific areas. 

b) Formal and informal channels of communication between employers and employees foster employee involvement, and are crucial in large organizations, where management decisions might seem remote from employees.

c) Employee forums provide a mechanism for dialogue and consultation. They can operate directly between managers and employees, or involve representatives such as trade union representative.

d) Works councils are more formal bodies, which are legally established in many countries. The works council is a channel for information and consultation. 

e) Employee representatives have seats on the board in many countries as part of the corporate governance system. This representation, usually through a trade union, affords a strong voice at board level.

4.
Managing across cultures is key to IHRM. What are the main ways in which cross-cultural management can contribute to achieving organizational goals? 

a) The MNE can draw on the skills of the transnational manager. He or she benefits from understanding local issues and appreciating the company's global goals. 

b) The expatriate is important for achieving organizational goals in many organizations. This person is in a position to guide local subsidiaries in both the processes and norms set by the head office.

c) Cross-cultural teams are valuable in the MNE, where their cultural diversity can bring new ideas and new ways of doing things. 
d) Managing subsidiaries in diverse locations involves both local responsiveness and awareness of the organization's global strategy. Often managers who are third-party-nationals have these different perspectives. 
5.
List the differing approaches to integrating an acquired company, citing differing circumstances when each would be appropriate.

a)
The acquiring company can opt for full integration, whereby the acquired company is subsumed within the existing business of the new owner. This would happen where both are active in the same sector, and the owner does not wish to retain the brand of the company taken over.

b)
The acquiring company might seek to co-ordinate strategy of the acquired firm, so that it is complementary to its own strategy. The culture of the acquired firm would remain distinctive. This might be appropriate where the acquired business is distinctive. 

c)
The acquiring firm might choose to keep the acquired firm as an independent business. Its separate organization and culture would be retained. If the acquired firm is a well-known brand in its own right, then this would be appropriate. 


Multiple choice questions

1.
Which of the following types of supply chain is associated with Fordist production? 

a) Value chain

b) Networks

c) Vertical integration

d) Supply chain based on exchange transactions

Answer: c

2.
In what way is supply chain management broader than logistics? 

a) It integrates a range of business processes from sourcing to delivery to the end consumer.

b) It focuses on cross-border movements.

c) It focuses on exchange of information.

d) It takes a relational approach to inter-firm relations.

Answer: a

3.
What are the characteristics of the agile supply chain? 

a)
An ability to respond quickly to changes in demand

b)
An ability to move goods quickly from manufacturer to retailer

c)
An ability to reduce costs in supply chains

d)
An ability to move large quantities of goods cheaply

Answer: a

4.
The efficient supply chain is exemplified best in which of the following sectors?

a) Fashion clothing

b) Groceries

c) Motorcars

d) Computers

Answer: b

5.
Which of the following factors is the most relevant in making a decision whether to make or buy a product? 

a)
The availability of firms which can provide the product

b)
The existing competencies of the firm

c)
The location of specialist suppliers

d)
The firm's existing external ties

Answer: b

6.
Which of the following options is best suited to a firm making a complex product such as a car, which is part of an inter-firm network, but which is looking to save on costs? 

a)
Produce the product in-house.

b)
Set up a foreign subsidiary in a low-cost location, to produce the product

c)
Purchase from a firm in the network, despite the costs, in order to keep that firm in orders.

d)
Purchase from an independent supplier who can supply more cheaply.

Answer: d

7.
All but which one of the following are risks associated with a global sourcing strategy?  

a) Quality maintenance

b) Long-term commitment

c) Political risk

d) Exchange rate risk

Answer: b

8.
What is the main reason that carmakers have decided to source globally? 

a) To be near consumer markets

b) To benefit from technology in diverse locations

c) To achieve vertical integration

d) To save on costs

Answer: d

9.
Mass customization aimed to do all but which one of the following?

a) Produce products customized for each customer

b) Allow product lines to be changed quickly

c) Introduce greater management control over the workforce

d) Introduce flexibility

Answer: c

10.
Which one of the following statements best explains the benefit of flexible mass production over Fordist manufacturing?

a) It focuses on the needs of the consumer.

b) It allows more semi-skilled workers to get jobs.

c) It reduces costs.

d) It improves industrial relations.

Answer: a

11. Manufacturing cells offer flexibility and efficiency in assembly line production because...

a) They relieve the monotony of the assembly line. 

b) They consist of teams responsible for a single product.

c) They have more skills than assembly-line workers.

d) They often switch to different tasks.

Answer: b

12. Innovation in lean production techniques are associated with which company? 

a) Ford

b) General Motors

c) Toyota

d) Nissan

Answer: c

13.
Which of the following are the main limitations of a just-in-time (JIT) system? 

a) Skilled workers are needed to operate it.

b) Supply of materials and parts must be continuous.

c) Upstream operations must supply the exact components needed for downstream operations at exactly the right time.

d) Good relations with suppliers are crucial.

Answer: c

14.
In which of the following industries is modular manufacturing most beneficial? 

a) Mobile phones

b) Fashion clothing

c) Computers

d) Flat-screen televisions

Answer: c

15.
Which of the following best explains the shifting geography of manufacturing? 

a) The need to reduce costs.

b) The urge to improve innovative capacity.

c) The urge to find new markets.

d) The continuous need to seek new locations for reasons associated with costs, flexibility and proximity to suppliers.

Answer: d

16.
Which of the following best defines quality?

a) The elimination of defects in products and services.

b) The degree to which a product meets the needs and expectations of customers.

c) The standard of performance which is reasonable to expect in each product.

d) The reduction of defects in products and services

Answer: b
17.
 The notion of quality circles contributed to which of the following?

a) Manufacturing cells

b) Continuous improvement

c) TQM

d) Six Sigma

Answer: b

18.
What are the HR implications of total quality management (TQM)?

a) Personal development of employees is paramount.

b) All staff must be trained and committed.

c) Only companies from collectivist cultures can practise it successfully.

d) Staff hierarchies are necessary to implement it.

Answer: b

19.
Six sigma is closely associated with all but which one of the following?

a) Eliminating defects

b) Measuring product performance

c) Reducing costs

d) Lengthening product cycle times

Answer: d

20.
Why are companies keen to become accredited for international quality standards? 

a) To enhance the reputation of the managers

b) To demonstrate quality credentials in international business

c) To gain a competitive edge on rival firms

d) To be able to charge higher prices to customers

Answer: b

21.
Which of the following is a major influence on quality management in different national environments? 

a) The political system

b) The class structure in different countries

c) The presence of foreign companies

d) The national cultural environment

Answer: d

22.
How best should a company approach quality issues when it carries out operations in a country with a weak institutional environment? 

a) Design systems to minimize the need for skilled and educated workers.

b) Design and monitor quality control systems internally, with external accreditation to reassure consumers.

c) View regulatory weakness in the country as a source of competitive advantage.

d) Cultivate ties with officials, to ensure favourable treatment if the company's quality control is queried.

Answer: b

23.
An 'efficient consumer response' system for distribution has been particularly beneficial in which of the following sectors? 

a)
Small retailers

b)
Services industries

c)
Computers

d)
Large retailers

Answer: d

24.
How did the introduction of the container revolutionize shipping? 

a) It speeded up delivery times.

b) It allowed large volumes of goods to be shipped safely.

c) It reduced the risks of ocean shipping.

d) Container ships were easier to navigate than ordinary cargo ships.

Answer:  b
25.
If a firm is choosing a location for manufacturing, why would it consider one near a rail terminal over one with only road links? Choose two.

a)
Because rail is more flexible than road transport.

b)
Because rail transport produces less emissions than road transport.

c)
Because rail transport is invariably cheaper than by road.

d)
Because rail transport is not subject to the congestion that occurs on roads.

Answer: b and d

Short answer questions with guideline answers

1.
What are the main factors that have influenced the evolution of supply chain management?

a)
The growth of networks has been an important trend, replacing vertical integration.

b)
Co-operation between firms has increased, in conjunction with the growth of networks. This has entailed exchange of information and greater integration of processes.

c)
A re-examination of core competencies has taken place, leading to firms seeking to outsource activities not regarded as core.

d)
Some firms have become specialists in sourcing, such as Tier 1 suppliers in global supply chains.

2.
List the main types of supply chain strategy, stating where each is appropriate.

a) The efficient supply chain aims to move large quantities of goods quickly and cheaply. It is appropriate in commodity-like goods such as groceries.

b) The agile supply chain aims to respond quickly to changes in demand, both in types of products and amounts required. The fashion clothing industry is an example. 
The lean supply chain aims to be both efficient and agile. Firms seek to reduce waste (including time) and to respond quickly to changes in demand. It is exemplified in car manufacturing where lean production systems are in place.

3.
Assess the main factors which a firm takes into account in deciding whether to make or buy a product. 

a) The firm must decide what its core competencies are; it would concentrate on these activities and seek to find suppliers of other goods or services which it needs.

b) If the firm finds a specialist supplier, it must decide how to structure the relationship. For many firms, a series of one-off contracts is the choice, but for others, longer relationships are seen as providing a more valuable input.

c) If the firm is already part of an inter-firm network, then it is likely that it will seek a supplier from within the network. However, note that members of Japanese keiretsu have sought external suppliers when they felt that this would lead to cost savings.

d) Where the firm has sought suppliers globally, it must take into account location-specific factors such as political and legal risk in the different locations. 

e) The firm should think long-term about the implications of outsourcing, as power can shift to the supplier. 

4.
Assess the changes in manufacturing strategy since the days of Fordism, and how they have impacted on location decision-making.

a) Fordism represented a means of manufacturing large quantities of standardized products. However, the lack of flexibility and the slowness of shifting to new product lines were limitations.

b) Flexible mass production was the main change which revolutionized manufacturing. This retained the mass production systems, such as assembly lines, but allowed firms to customize products for the customer. It was also able to shift product lines without long delays.

c) The manufacturing cell was another innovation, involving teamwork, which could form part of an assembly line. This empowered workers to take responsibility for the particular element of the process.

d) A major change has been in the role of the manufacturing worker. The monotonous assembly-line job associated with Fordism has given way to more involvement by the employee, especially in continuous improvement.

e) Modular manufacturing has been another major change. Modules can be used in a number of different end products, and some firms have become specialists in these areas.

f) Manufacturers aim for efficiency, cost reductions, improvements in quality and consumer satisfaction. Cost reductions are usually associated with shifting manufacturing to low-cost countries, but the skills and levels of quality could be problematic. The raising of skills and quality levels in low-cost countries has been a major development.

5.
List the main factors influencing improvements in quality management.

a)
Growing awareness of health and safety issues, on the part of employees and consumers, has been a major factor. 

b)
Mass manufacturing processes enabled firms to produce huge quantities of goods. Any defect, including one in a component, could potentially cause damage to thousands of consumers, in a number of different markets. This potential for harm influenced both firms and governments to seek improvements in quality.

c)
As firms raised the quality of their products, competitors were compelled to respond, creating competitive pressures internationally.

d)
Legislation has compelled companies to improve quality in regard to consumer health, safety of employees and environmental standards. 
e)
Systems of quality management, such as TQM, have enable firms to measure and monitor improvements, achieving multiple aims: reducing waste, reducing costs and improving quality.


Multiple choice questions
1.
Which of the following best describes the reasons for the recent expansion of global financial markets? 

a) Companies' profits have grown rapidly due to globalization.

b) Companies and individuals seek greater returns on their investments. 

c) Individuals have more money to invest. 

d) More imaginative types of investment are now available.

Answer: b

2. 
A currency's convertibility refers to...

a) The extent to which it can be bought and sold without limits

b) Whether it is pegged to the US dollar

c) The financial stability of the country which issues it

d) The extent to which it can be bought in foreign exchange markets

Answer: a

3.
Which of the following best describes the reasons for the breakdown of the Bretton Woods agreement?  

a) The weakness of the US dollar

b) The growth of the Soviet Union

c) Steep rises in the price of oil

d) Growing volatility and greater risks in financial markets

Answer: d

4.
Which of the following is the main reason that the US has complained that China's currency is undervalued? 

a) Because US exporters are disadvantaged

b) Because China's exports to the US are too expensive

c) Because China is perceived as enjoying an advantage in exporting goods to the US

d) Because China does not import many American goods

Answer: c

5.
The International Fisher Effect (IFE) holds that...

a)
A country's nominal interest rate rises and falls in line with inflation.

b)
A country's real interest rate remains unchanged.

c)
If a country has low nominal interest rates, investors will seek higher rates in other countries.

d)
Gains in nominal interest rates will be nullified by movements in exchange rates over the long term.

Answer: d

6.
Financial crises in the 1990s struck developing and emerging economies for all of the following reasons except which one
a)
Speculation against national currencies

b)
Low levels of government borrowing to fund infrastructure projects 

c)
High levels of debt, often in US dollars

d)
Weak national financial systems

Answer: b

7.
The IMF's role in the Asian financial crisis is now seen as misjudged, largely because... 

a) It gave too little financial support to governments.

b) It did not bail out the failing banks.

c) It imposed austerity measures which led to further economic deterioration.

d) It criticized governments' handling of their economies.
Answer: c

8.
All but which of the following transactions is commonly used in foreign exchange? 

a) An option to buy shares

b) A spot contract

c) A forward contract

d) An option to buy foreign currency

Answer: a

9.
Currency risk strategy must take into account all but which one of the following?

a) The market power of the other party in a cross-border transaction

b) The cost of hedging devices

c) The location of its main shareholders

d) The extent of its global operations

Answer: c

10.
Why is transfer pricing sometimes considered similar to tax avoidance? 

a)
Because the parent company uses it to understate its profits and therefore reduce tax liabilities.

b)
Because the parent company can adjust both prices and location where profits arise between itself and subsidiaries.

c)
Because subsidiaries' profits are manipulated down to reduce tax liabilities.

d)
Because transactions between subsidiaries are not at arm's length.

Answer: b

11.
All but which one of the following is a reason why companies choose to list on stock exchanges other than in their home country? 

a) To attract large institutional investors

b) To attract foreign investors

c) To benefit from regulatory stability afforded by a major exchange

d) To reduce the costs  of listing

Answer: d
12.
Which of the following stock exchanges is the most internationalized? 

a) The New York Stock Exchange

b) The Shenzhen Stock  Exchange

c) The Tokyo Stock Exchange

d) The Nasdaq

Answer: a

13.
International bonds have become popular in recent years because...

a) They are unregulated.

b) They attract foreign investors.

c) They carry no currency risk.

d) They are always issued by governments.

Answer: b

14.
Which of the following best explains the relationship between a company's ownership structure and financial arrangements? 

a) In a listed company with a wide range of shareholders, a low debt/equity ratio is likely.

b) A private company with dominant 'insiders' is likely to rely on debt financing.

c) Corporate ownership structures reflect the relative strength of stakeholders, including both creditors and shareholders.

d) In a listed company with a few dominant shareholders, raising equity is easier than borrowing.

Answer: c

15.
All but which one of the following statements indicates the distinction between private and public companies? 

a) The private company faces fewer rules relating to regulatory disclosure than the public company.

b) The private company can borrow funds more easily than the public company.

c) The public company has greater access to finance than the private company.

d) The public company faces greater shareholder scrutiny than the private company.

Answer: b
16.
Offshore locations offer companies what advantages from a financial point of view? Choose the best Answer from the following.

a) High levels of transparency in financial regulation

b) Low taxation

c) Light regulation and low taxation

d) Strict rules on corporate governance 

Answer: c

17.
The hostile takeover differs from a friendly one in that...

a) The shareholders of the target company vote against the takeover.

b) The board of the target company resists the takeover offer.

c) The CEO of the target company is against the takeover.

d) The CEO of the offeror company does not consult the CEO of the target company.

Answer: b

18.
Hedge funds have become noted for all the following features except one. Which one? 

a) A short-term approach to investment

b) Good returns for investors

c) High levels of transparency

d) High levels of activities in derivatives trading.

Answer: c

19.
Although private equity groups are sometimes criticized, they can point to successes in which respects? Choose two. 

a) They often achieve greater efficiencies in the companies they buy.

b) They are highly responsive to concerns of ordinary shareholders.

c) They often turn around ailing companies.

d) They take a long-term view of the companies they buy.

Answer: a and c
20.
The leveraged buyout (LBO) depends crucially on which of the following factors? 

a) Shareholder sentiment in the company bought out

b) Availability of low-cost debt finance

c) Co-operation of existing managers in the company bought out

d) Skill of the fund managers in the particular sector

Answer: b

21.
The role of the auditor of a company is best defined as...

a) A professional accountant who prepares a company's annual accounts and complies with regulatory rules.

b) A professional accountant who oversees a company's finances.

c) A professional accountant who advises a company on its finances.

d) A professional accountant who Answers to the company's board on its finances.

Answer: a

22.
Accounting standards and practices would be expected to conform to high regulatory standards and transparency in which of the following countries? 

a) Russia

b) the UK

c) Dubai

d) China

Answer: b

23.
The difference between the generally accepted accounting principles (GAAP) in the US and European systems is best described in which one of the following statements? 

a) The US system is more helpful to investors.

b) The European systems require more detailed information to be provided.

c) The US GAAP is rules based and highly legalistic in approach, compared to European systems.

d) The European systems aim to reduce the amount of litigation which can occur in relation to corporate finance, whereas this is not a priority in the US.

Answer: c

24.
Translation risk is a significant factor in which of the following circumstances? 

a)
The local currency of the subsidiary has dropped 30% in value in relation to the home-country currency in the course of the year.

b)
The parent company and subsidiary are both in the eurozone.

c)
The subsidiary uses the currency of the parent company for most of its transactions.

d)
The local currency of the subsidiary has risen 30% in value in relation to the home-country currency in the course of the year.

Answer: a

25.
What hurdles lie in the path of full harmonization under International Financial Reporting Standards (IFRS)? Choose two.

a) National governments are generally unwilling to introduce the new rules.

b) Changes in corporate culture are needed to make IFRS compliance effective.

c) Business practices are slow to adapt to the new rules, especially in developing countries.

d) The US is ignoring the IFRS.

Answer: b and c

Short answer questions with guideline answers
1.
List the main factors influencing the recent growth in global financial markets. 

a) The desire of companies and individuals to make greater gains from investments than traditional investments such as deposits can offer. 

b) The growth in capital markets, seeing huge flows of funds encompassing a wide range of countries, including developing and emerging economies. 

c) Liberalization of national financial markets. Governments have introduced measures which make it easier for foreign investors to enter. 

d) Advances in computing and IT, allowing round-the-clock instantaneous trading in securities. 
e) The growth in financial instruments known as derivatives, the market for which grew rapidly in the earlier years of the new millennium. 
2.
Financial crises have tended to recur, despite efforts by national and international bodies to avert them. What are the main factors at work in causing them? 

a) Weak national regulatory frameworks.

b) Imprudent borrowing and lending by banks. 

c) Rapid financial liberalization, often in countries with weak financial institutions. 

d) The growth in global financial markets, much of which escapes regulation at national level.

3.
Assess the impacts of currency risk on corporate finance. 

a) As corporate operations become globalized, the company is compelled to consider implications of numerous foreign currencies in which it must deal on a day-to-day basis. 

b) Companies turn to hedging strategies to insure against currency fluctuations. Forward contracts and foreign exchange options can be effective. The use of derivatives such as options and swaps has grown remarkably. Although these products are part of a hedging strategy, they can involve considerable risk, as they are largely unregulated and difficult to value. 

c) Companies which carry out extensive foreign exchange transactions often turn to the 'natural hedge' as a means of shielding themselves from currency risk. By this means, costs and revenues are designed to fall within the same currency area. 
d) Transfer pricing is also used, allowing the company to benefit from location advantages associated with the currency in different countries in which it operates. 
4.
Companies are re-assessing the balance between debt and equity in their financing. What are the main considerations they are taking into account?

a) For the private company, debt financing is prevalent, but in a 'credit crunch', banks and other lenders are reluctant to take risks. 

b) The listed public company also leans on debt financing, but it is usually perceived as sound if its share values are strong, its assets highly valued and its performance healthy. If these measures of corporate health weaken, as in an economic downturn, its position can seem precarious. It is accountable to its shareholders as owners, to deliver consistent performance.  

c) Companies which have taken on huge debts in the period when borrowing was relatively easy and interest rates were low, could be faced with difficulties in servicing the debt when the business climate becomes harder. Imprudent levels of debt can burden a company for many years into the future. 
d) Raising more capital through a share offering is an option for a listed public company. However, its timing must be carefully considered. If public sentiment is sceptical about the company's prospects, an attempt to raise more capital in the market may attract only lukewarm response, turning sentiment further against the company.
5.
Assess changes taking place in the regulatory environment globally. 

a)
Corporate scandals such as the Enron collapse have sparked concern that even in apparently well regulated environments, financial disasters can occur. As companies have become more internationalized, the repercussions of a large corporate failure can be felt globally. 

b)
Legislation in each country sets the regulatory framework and rules which apply in its territory. A company operating internationally must comply with these rules in each country where it operates. Following the Sarbanes-Oxley Act in the US, which imposed a more complex disclosure regime, some companies have de-listed from the New York Stock Exchange, largely to save on the costs of new compliance procedures.  

c)
Stock exchanges now compete globally for both investors and listings. Each national exchange to some extent reflects its national environment, but it must offer a regulatory framework which is globally perceived as fair and efficiently run, in order to attract international business.

d)
National accounting standards are now giving way gradually to IFRS rules, although with the proviso that there is still much scope for differing interpretations. This trend is beneficial for global investors, as it should provide the assurance that consistent definitions are applied. For companies, it raises the need for greater transparency in reporting. 

e)
The pressure for greater transparency in financial reporting is a significant trend. Firms from developing and emerging economies could face considerable hurdles, as companies from these environments, many of which are now large MNEs, tend to be family dominated, with opaque governance. 
f)
There is also pressure for companies to extend their reporting to social and environmental impacts. Triple bottom line reporting is not a part of the legal regulatory system, but it is gaining in importance in the perceptions of invest


Multiple choice questions

1.
All but which one of the following are elements of innovation? 

a)
R&D intensity

b)
Corporate governance

c)
Management of IP rights

d)
Consumer focus

Answer: b

2.
Which of the following would be classified as a patentable invention? 

a) A new computer program

b) A company's logo

c) A design for a new motorbike

d) A new machine for rolling steel

Answer: d

3.
All but which one of the following theories explain how  innovation can be a source of competitive advantage? 

a) Porter's theory of competitive advantage

b) The resource-based theory of the firm

c) Hamel and Prahalad's theory of core competencies

d) Vernon's product life cycle theory

Answer: d
4.
Which of the following best describes Porter's approach to the role of innovation? 

a) Innovation is confined to large companies with huge resources.

b) Innovation must be triggered by new technology.

c) Innovation can take place at any point along the value chain, in both new technology and incremental changes.

d) Innovation responds, rather than anticipates, changes in consumer demand.

Answer: c

5.
Which of the following best describes the way in which capitalist development depends on innovation? 

a)
Businesses drive the development of new technology on which capitalism depends.

b)
Creative inventors exist only in capitalist environments.

c)
The desire for financial gains is the catalyst for all innovation.

d)
New products, new technologies and new markets are constantly emerging, facilitating growth in businesses.

Answer: d

6.
In what way has India's development path been distinctive? 

a)
It has openly welcomed FDI, in order to benefit from technology transfer.

b)
It has relied on export-led industrialization through FDI.

c)
It has limited FDI and focused on high-technology services.

d)
It has focused on labour-intensive manufacturing industries.

Answer: c
7.
In what way does the industrial structure of a country influence its innovative capacity? 

a) Where the government encourages FDI, the country invariably gains in innovative capacity.

b) Where competition is between a few large companies, they are unlikely to be innovative.

c) Where there are many competitors in a sector, pressures to innovate are strong.

d) Where there are large state-owned companies, there are strong incentives to innovate.

Answer: c

8.
Why have Japanese companies built up a strong reputation for innovation? 

a) Because their culture is highly entrepreneurial

b) Because they prioritize R&D and continuous improvement

c) Because Japanese people are highly motivated by the prospect of financial gains

d) Because the Japanese government has encouraged FDI in high technology

Answer: b

9.
Which of the following countries has dramatically increased expenditure on R&D since 1975? 

a) Switzerland

b) Finland

c) Germany

d) the UK

Answer: b

10.
Which country has chiefly specialized in research in pharmaceuticals? 

a)
South Korea

b)
Japan 

c)
Switzerland

d)
The US

Answer: c

11. Which of the following channels of technology transfer is likely to benefit the host country most? 

a) A joint venture in which the foreign partner retains close ownership of IP rights.

b) An greenfield FDI project where spillover effects are encouraged.

c) The import of machinery for use in textile manufacturing.

d) The licensing of technology in a low-skill sector to a manufacturing company in the host country.

Answer: b

12.
All but which one of the following factors is crucial in determining the ability of a host country to benefit from technology transfer? 

a) The level of skills and knowledge in the local workforce.

b) The availability of advanced technology to host firms in joint ventures.

c) The opportunities for local skilled workers to become involved in FDI projects.

d) The incentives made available by the host government to attract FDI.

Answer: d

13.
For a company desiring more innovation in its supply chains, which of the following sources will it seek? Choose two.

a) In-house R&D

b) Processes of continuous improvement

c) Cross-functional teams

d) Technology licences

Answer: b and c

14.
Innovation strategy should fit which of the following aspects of the company? Choose two.

a) Its home-country environment

b) Its corporate culture

c) Its most profitable product

d) Its competitive strategy

Answer: b and d

15.
The born-global firm's ability to continue growing depends on which of the following? 

a) Hiring creative people

b) Building a strong brand

c) Sustaining innovative capacity, both in-house and from acquisitions 

d) Finding new markets

Answer: c

16.
Why is entrepreneurship crucial for the born-global company? 

a) Because it must adapt to changing markets.

b) Because technology advances and new products constantly re-shape the competitive environment. 

c) Because competitors are sure to copy its products. 

d) Because only entrepreneurial companies can come up with new ideas.

Answer: b

17.
What advice would be appropriate for the large, research-intensive MNE which is concerned that it is falling behind nimbler rivals in global markets? 

a) Spend less on in-house R&D, and buy in new ideas from external sources.

b) Spend more on in-house R&D. 

c) Hire more scientists.

d) Look for new ideas throughout the organization, including subsidiaries.

Answer: d

18.
For the research-intensive MNE, what are the main benefits of internationalizing R&D activities? Choose one.

a) To reduce costs.

b) To benefit from skills and specialisms in the company's various locations. 

c) To reduce the size of the company's operations in its headquarters.

d) To recruit researchers from a wider range of cultural backgrounds.

Answer: b

19.
Many large MNEs are now adopting a broad approach to innovation, which can best be described as...

a) Buying in ideas for new products from outside.

b) Focusing on new ideas in marketing to adapt to different markets.

c) Seeking incremental innovation in all functional areas. 

d) Finding new ways to reduce costs. 

Answer: c

20.
Which of the following is a drawback for a firm involved in a co-operative R&D agreement? 

a) The firm's employees might leave and join a partner firm.

b) The firm might lose control over vital R&D.

c) The firm might have to shift employees to new locations.

d) The firm might have to train staff to understand new technology.

Answer: b

21.
Which of the following types of firm is most likely to create ideas from within the organization? 

a) An SME which is dominated by a charismatic founder. 

b) A large MNE which has a huge R&D establishment. 

c) Any company which encourages employees to pursue new ideas. 

d) Any company which has cross-functional teams. 

Answer: c

22.
The ability to manage external sources of innovation include all but which one of the following? 

a) An ability to work with specialists in different areas. 

b) An ability to adapt products for different markets.

c) An strong sense of hierarchy.

d) A focus on consumer needs in a variety of environments.

Answer: c

23.
Which of the following companies is likely to be more adept at managing external sources of innovation? 

a) Dell

b) Procter & Gamble

c) Kodak

d) Google

Answer: b

24.
Why is managing intellectual property becoming increasingly difficult? 

a)
Because many companies see nothing wrong in copyright infringement.

b)
Because the growing incidence of infringement is adversely affecting IP owners.

c)
Because patents are very technical, and competitors can easily find loopholes. 

d)
Because companies do not hire enough legal specialists to protect their IP.

Answer: b

25. Computer software falls under which of the following IP categories? 

a) Patent

b) Trademark

c) Copyright and possibly patent, if embedded in hardware

d) Design right

Answer: c

Short answer questions with guideline answers
1.
List and explain the relevance of the key elements of innovation from the firm's point of view. 

a) Corporate culture – An open corporate culture allows new ideas to emerge from within the organization. 

b) R&D focus – This can be in-house or through networks. It is important for companies whose strategy depends on new research-based products. 

c) Cross-functional co-operation – This is important for companies which stress incremental innovation in all aspects of the business. 
d) Focus on consumer needs – This reflects the marketing concept as a corporate goal. It drives innovation, both radical and incremental. 
2. 
How is innovation viewed as contributing to competitive advantage in key theories of the firm? 

a) Innovation is associated with ownership advantages in Dunning's OLI paradigm. This is crucial if the firm owns patents which are licensed technology, but it also applies to trademarks and logos. 

b) Innovation capacity is a firm-specific resource in resource-based theories of the firm. The firm which is first to launch new technology can gain first-mover advantages. 

c) Innovation constitutes a core competence (see the theory of Prahalad and Hamel). 

d) Michael Porter views innovation as creating competitive advantage, in both new technology and lesser changes. He stresses the role of catalysts, such as changes in government regulation, and also emphasizes the importance of the national environment (for which his diamond model of competitive advantage is relevant). 

3.
Assess the ways in which innovation can be fostered in the national environment.

a) Education and training systems are necessary foundations to encourage people with potential for scientific and technological research. 

b) Advanced infrastructure in telecommunications and internet is necessary for fostering technological innovation. 

c) Encouraging interactions between universities, R&D departments and research centres (including those sponsored by governments) can lead to new inventions which can be translated into successful business ideas. 

d) Entrepreneurship is also important, to convert good ideas into profitable applications. Governments can aid by encouraging start-ups through funding and making it relatively easy and cheap to form companies.
e) In FDI host countries, governments can encourage investors who are likely to involve local firms and skilled workers, thus benefiting from spillover effects.
4.
Research-intensive MNEs are re-assessing their innovation strategies. Examine the trends emerging. 

a) Cutting-edge scientific research is expensive, and firms are seeking ways to gain greater value from the sums invested. They are driven partly by the concern about the growing problem of copying and infringement of proprietary technology, which can dilute the gains they aim to realize from new products.

b) The importance of incremental innovation is increasingly recognized. These innovations can be effective in adapting products to different markets, and are cost-effective. 

c) Co-operative innovation strategies are on the rise. They help to spread costs and allow firms to participate in a variety of research projects which they could not afford individually. 

d) Acquiring licensed technology and acquiring firms (often SMEs) which own new technology are increasingly seen as important to innovation strategy for the large firm. This strategy benefits the large firm, and can also benefit the SME, which lacks the resources to exploit the new idea itself.
Geographic scanning is gaining ground in R&D strategy. Large MNEs have traditionally located R&D at their home headquarters, but are now building R&D units in other locations, to benefit from local specialized talents, to save on costs and to be near to markets (especially large emerging markets).

5.
Co-operative innovation strategies are on the rise, but what are the risks for the individual firm?  

a)
The partners must agree how to structure and manage the research carried out under the co-operative agreement. The structure can be a joint venture, which could involve considerable costs and risk. If the new technology passes to the joint venture company, the 'parent' companies could be disadvantaged. 

b)
The partners in the project are likely to have differing corporate cultures and differing ways of doing things. Reconciling these differences can detract from the research focus, making it more problematic that valuable outcomes will be achieved. 

c)
There could well be uncertainty or disagreement over the possible IP rights which arise from the research. There could also be leakage of core technology, depending in part on the national environment of the research facility. 

d)
For a firm embarking on a co-operative research project, there is a risk that its core competencies will be diluted, if it loses the innovative capacity on which its business has been built. The firm might wish to keep a hands-on approach to the research carried out, but this could be counter-productive: other partners and those employed by the new firm (if it is a joint venture) are key stakeholders whose incentives must be maintained if the research is to be successful. 


Multiple choice questions
1.
Biodiversity is best defined as...

a) The variety of plants and animals on earth

b) The variety of living organisms existing in a particular habitat

c) The study of plant life

d) The study of plants likely to become extinct

Answer: b

2.
Which cause of change in ecosystems is of growing concern? 

a) The disappearance of plant life in some areas

b) The spread of plant varieties to new areas

c) Industrialization

d) Changing wildlife in a habitat over time

Answer: c

3
Which of the following aspects of industrialization causes most environmental degradation? 

a) Urbanization

b) Building factories

c) Largescale industrial production

d) Deforestation

Answer: c

4.
Air quality is worst in which of the following places? 

a) New York

b) Beijing

c) Mumbai

d) Mexico City

Answer: b

5.
Which of the following is a major type of transboundary pollution? 

a)
Polluted waterways

b)
Power station emissions

c)
Industrial waste

d)
Acid rain

Answer: d

6. Which of the following is likely to suffer most from the effects of climate change? 

a)
Agricultural exporting countries

b)
Low-lying coastal regions in poor developing countries

c)
Industrialized countries

d)
African countries

Answer: b

7.
Greenhouse gas emissions per capita are highest in which of the following countries? 

a) Germany

b) The UK

c) The US

d) China

Answer: c

8.
Environmental regulations by the national government differ from country to country for which of the following reasons? 

a) Most governments have little knowledge of environmental issues.

b) Governments are concerned that environmental restrictions will damage their economies.

c) The public is not much concerned about the environment in most countries.

d) Companies lobby their governments to prevent the enactment of environmental protection legislation.

Answer: b

9.
Emissions trading schemes are considered to be palatable to businesses because...

a) They do not require investment in clean technology.

b) Companies need not change their behaviour.

c) They involve business incentives to control emissions.

d) They do not cost much.

Answer: c

10.
It is difficult to bring actions for environmental damage in the International Court of Justice because...

a)
It does not award damages.

b)
It hears only disputes between states.

c)
It is too expensive.

d)
It cannot hear cases about pollution.

Answer: b

11.
Sustainable development as a concept dates from which of the following? 

a) The Kyoto Protocol

b) The UN Framework Convention on Climate Change of 1992

c) The Rio Summit of 1992

d) The Brundtland Report of 1987

Answer: d

12.
The aim of the Kyoto Protocol was...

a) That all countries would reduce emissions.

b) That emissions by all countries would be reduced to 5% below 1990 levels by 2008-12.

c) That emissions by developed countries would be reduced to 5% below 1990 levels by 2008-12.

d) That developed countries would bear all responsibility for reducing emissions, and developing countries would have no such obligations.

Answer: c

13.
Environmental strategy for business should include all but which one of the following? 

a) Opportunities for innovation

b) Stakeholder pressures

c) The advantages of locating in less regulated locations

d) Ethical concerns

Answer: c

14. Carbon neutrality as an environmental strategy consists of... 

a) Reducing carbon emissions as much as possible.

b) Reducing carbon emissions as much as possible and offsetting the remainder with activities which contribute to environmental protection.

c) Engaging in emissions trading schemes.

d) Signing up to the Voluntary Carbon Standard

Answer: b

15.
Which of the following theories sees environmental strategies as contributing to competitive advantages? 

a) The theory of comparative advantage

b) Resource-based theories of the firm

c) Vernon's product life cycle theory

d) Dunning's OLI paradigm

Answer: b

16.
Companies in which of the following countries are least likely to prioritize environmental concerns?

a) South Korea

b) Japan

c) Indonesia

d) China

Answer: c
17.
Which of the following would be advised as a first step in dealing with the challenges of climate change? 

a) Assess opportunities for innovation in environmental protection.

b) Assess reliance of the firm on ecosystems.

c) Manage environmental impacts.

d) Monitor ecosystem impacts.

Answer: b

18.
All but which one of the following is a major environmental challenge for businesses? 

a) Water scarcity

b) Climate change

c) Growing populations

d) Loss in biodiversity

Answer: c

19.
MNEs operating in a number of different countries with differing environmental standards are best advised to...

a) Comply with the minimum standards in each country.

b) Maintain the highest standards in all locations.

c) Shift operations to countries with the lowest standards to reduce costs.

d) Maintain high standards in the home country, as this is where most shareholders are located.

Answer: b

20.
Third party verification can be helpful for monitoring environmental performance, but with what proviso among the following? 

a) Choose a monitoring body which the firm is confident will produce favourable data.

b) Ensure that the monitoring body is reputable and independent.

c) Ensure that the monitoring is highly publicized.

d) Avoid NGOs as they are likely to be critical of the firm.

Answer: b
21. All but which one of the following is included in triple bottom line reporting? 

a)
Social impacts

b)
Financial reporting

c)
Corporate governance

d)
Environmental impacts

Answer: c

22.
Which industry among the following is the largest source of greenhouse gas emissions? 

a) Manufacturing

b) Transport

c) Energy industries

d) Construction

Answer: c

23.
Biofuels have risen to prominence because...

a) They are easy to produce.

b) They are carbon neutral.

c) Most countries have abundant supply of organic matter for producing biofuels.

d) They are cheap to produce.

Answer: b

24.
Which of the following ways of dealing with waste is least harmful environmentally? 

a)
Reuse

b)
Incineration

c)
Recycling

d)
Landfill

Answer: a
25.
Sustainable consumption on the part of consumers depends mainly on which of the following? 

a) Government legislation 

b) Greater awareness of the need to change to a greener lifestyle

c) Companies promoting greener products

d) Raising the prices of products and services which are environmentally damaging

Answer: b

Short answer questions with guideline answers

1.
List aspects of environmental degradation which have become global issues. 

a) Climate change is a global issue, impacting to varying degrees in all countries.

b) Depletion of natural resources is affecting businesses and societies. Among the most important of these are non-renewable energy resources and water.

c) Pollution, largely caused by power generation and industrial processes, has become transnational in its impacts.

d) Loss of biodiversity and damage to ecosystems are local in the impacts, but they have become global issues.

2.
Assess the probable impacts of climate change in different types of location. 

a) As seas are rising, coastal regions are directly affected. Low-lying coastal areas are likely to suffer from flooding. In poor developing countries, food and water shortages would pose risks to health.

b) Extreme weather, such as hurricanes, floods and storm surges, are associated with climate change. These will be severe in areas prone to hurricanes and flooding.  

c) Desertification is a risk in dry areas, such as much of Africa and areas in Australia. Agriculture would be directly affected, as the land will not sustain crops and water will be scarce.
d) It is notable that rising temperatures in some regions, such as northern Europe, will permit the growing of crops more associated with milder countries. 
3.
What roles are played by national governments and and international governmental co-operation in protecting the environment? 

a) National governments tend to concentrate on the immediate issues within their borders. Developed countries which were earliest to industrialize have had to address issues such as poor air quality and pollution of waterways for many years. Fines for businesses which break the rules on environmental protection have tended to be viewed as simply as costs for businesses. Governments are now more alert to the need to prevent pollution and encourage accountability.

b) Governments in developing countries have tended to see environmental protection as a concern for the rich countries, arguing that it is now 'their turn' to industrialize, and worry about the environment later. This attitude is changing as governments realize that the environment is a global issue, affecting both developed and developing countries.

c) International co-operation among sovereign governments is appropriate for dealing with the truly global concerns, such as climate change. However, persuasion rather than compulsion is needed, and some governments have shown little willingness to introduce targets for reducing emissions.

d) Pressure is coming to bear on governments which have been lukewarm to the Kyoto Protocol targets. The negotiations taking place on a successor to Kyoto should include the large developing countries such as China and India. These countries would need to change their stance on emissions reductions, if international co-operation is to yield substantial results.

4.
Assess the ways in which ecology's role in business strategy has evolved. 

a) Businesses have tended to see environmental protection negatively, as a cost involved in operations, which needs to be kept to a minimum. 

b) This rather short-sighted view has given way to a more moderate approach, which sees the long-term benefits of cleaner technology and waste reduction. This is often considered an aspect of a CSR approach. 

c) As with other aspects of CSR, some businesses have focused on the 'business case', rather than on ethical and social issues. The business case argues that long-term problems such as climate change and resource constraints compel businesses to adopt strategies which stress sustainability.

Most businesses now take a positive approach to ecology, looking to formulate strategies with ecological concerns in mind, rather than focusing first on a business model from the economic point of view and then adjusting it to comply with legal environmental constraints.

5.
List the ways in which consumers are being urged/compelled to change to a greener lifestyle, and prospects of these changes becoming widespread.

a)
Reducing and recycling waste.

b)
Buying products which do not have excessive packaging. 

c)
Buying low-emissions cars, and using more public transport. 

d)
Becoming more energy-efficient in the home. 

e)
Making a cultural shift from a throwaway culture in which products are discarded simply because they have been superseded by newer models, to one in which durability is valued.

f)
Reducing air travel.
g)
Most consumers would be reluctant to make changes to their lifestyle which curtails their current levels of leisure activities and travel, although they are aware of global environmental issues and accept that everyone has responsibility. This is an issue which governments are grappling with. They are tending to legislate in areas such as emissions standards in new cars, which leads to changes in the products available for consumers to buy.

Multiple choice questions

1.
CSR is best defined as...

a) Approach to the firm which emphasizes social values in each of the firm's locations.

b) Approach to the firm which takes in economic activities, legal obligations and social responsibilities.

c) Approach to the firm which emphasizes legal and moral responsibilities.

d) Approach to the firm which emphasizes ethical concerns.

Answer: b

2. 
Corporate citizenship activities would include all but which one of the following? 

a) Providing computers for schools in the city where the company is based.

b) Giving to charities.

c) Re-registering the company in an offshore location to avoid high levels of tax.

d) Co-operating with government to provide clinics in poor countries in which the company has operations.

Answer: c

3.
The MNE's stakeholders consist of …

a) Interests of the firm located in its home country.

b) All those interests which impact on the firm, wherever they are in the firm's global operations.

c) Employees and customers in the firm's home country.

d) Employees and customers in the firm's home country and foreign subsidiaries.

Answer: b
4.
In the multidimensional CSR model, responsibilities are owed to...  

a) communities

b) society

c) stakeholders

d) shareholders

Answer: c

5.
The theory of stakeholder salience highlights all but which one of the following criteria? 

a)
Legitimacy

b)
Power

c)
Legal standing

d)
Urgency

Answer: c

6.
Dimensions of stakeholder engagement include all but which one of the following? 

a)
Transparency

b)
Empowerment

c)
Openness

d)
Communication

Answer: d

7.
Which of the following is the best approach to the MNE's international stakeholders? 

a) Take account of more powerful stakeholders over those less powerful.

b) Take account of home stakeholders' interests before those in other locations.

c) Engage in dialogue with stakeholders in all locations, with no home-country bias.

d) Take account of government pressures in foreign locations, rather than employees in the firm's foreign operations.
Answer: c
8
 Which of the following would be the best recommendation to a firm contemplating FDI in a country run by a military dictatorship? 

a) Do business with the military dictators.

b) Invest in the country, but only to a limited extent which does not involve direct support for the regime.

c) Invest in the country, but keep a low profile.

d) Choose another location with a more accountable government.

Answer: c

9.
The firm which adopts a bolted-on approach to CSR is likely to focus on which of the following? 

a) High labour standards in all locations

b) Social priorities in the home country

c) Philanthropy

d) Social programmes in foreign locations

Answer: c

10.
Which of the following firms is most likely to adopt CSR goals as the highest level of strategy? 

a) A manufacturing company

b) An oil company

c) A retailer

d) A social enterprise

Answer: d

11.
The integrated approach to CSR is characterized by which of the following? 

a) Emphasis on economic goals, with the addition of social considerations

b) Balance between social and economic goals

c) Emphasis on social goals

d) Stakeholder involvement

Answer: b
12.
What did the Stern Report demonstrate? 

a) Governments need to act to avert the worst aspects of climate change.

b) Firms must adjust to climate change.

c) The costs of mitigating the effects of climate change at an early stage are less than costs which will arise as impacts deepen.

d) Climate change is not the threat which had once been supposed.

Answer: c

13.
Which of the following best describes the traditional role of philanthropy for businesses? 

a) Playing a paternalistic role in deprived areas

b) Giving back to society from the wealth accumulated by business firms

c) Giving money to cultural activities in the firm's home country

d) Endowing educational institutions with large sums of money

Answer: b

14. Which of the following have become important philanthropists? Choose two. 

a) Bob Geldof

b) Bono

c) Bill Gates

d) Warren Buffet

Answer: c and d

15.
A social enterprise can be formed as any of the following except one. Which is the one? 

a) A registered company

b) A charity

c) A co-operative

d) A public company

Answer: d
16.
What is the main role of the social enterprise? 

a) To pursue social objectives.

b) To make a profit which is given to charity.

c) To fill in gaps in government provisions for social spending.

d) To carry out charitable activities. 

Answer: a

17.
Which of the following best defines a co-operative? 

a) Association in which all contribute equally and share the profits.

b) Voluntary organization in which all participate to achieve common goals.

c) A democratically-run association.

d) Association formed to pursue social goals.

Answer: b

18.
Duties to stakeholders are directly recognized in which of the following approaches to corporate governance? 

a) The Japanese model of stakeholder involvement

b) The shareholder model of corporate governance

c) Co-determination principles

d) The American model of corporate governance

Answer: c

19.
What is a 'control-enhancing mechanism' in corporate governance? 

a) Voting scheme which involves multiple voting by some shareholders

b) Voting scheme which treats shareholders unequally

c) Scheme by which dominant shareholders retain control of the board

d) Scheme designed to reduce the impact of activist shareholders

Answer: b
20.
Which of the following proposed reforms of corporate governance is currently being considered by US regulators? 

a) Reform to compel the company not to re-appoint a director who has the support of less than half the shareholders.

b) Reform to appoint stakeholders to corporate boards.

c) Reform to allow the company to ignore abstentions in votes on directors

d) Reform to compel companies to adopt the 'one share, one vote' principle.

Answer: a

21. In which of the following countries do shareholders have no right to vote on executive pay? 

a) The UK

b) The US

c) Sweden

d) Australia

Answer: b

22.
Executive pay has become an issue in the debate on corporate governance because...

a) Executive rewards reflect the fact that companies have become global.

b) Executive rewards have risen steeply.

c) Executive rewards have risen steeply and seem out of step with corporate performance.

d) Boards have been complicit with management.

Answer: c

23. Employees who work for companies which make manufacture goods in low-cost countries for an MNE are vulnerable to breaches of human rights because...

a) Most employers in low-cost countries pay little heed to human rights.

b) They are not direct employees of the MNE.

c) The government is likely to have a weak record of human rights enforcement.

d) The MNE is unable to monitor conditions in the factories.

Answer: b

24.
OECD guidelines for MNEs include all but which one of the following recommendations? 

a)
Support good corporate governance

b)
Commitment to sustainable development

c)
Respect for human rights

d)
Engage actively in local politics.

Answer: d

25.
Which of the following recommendations for CSR reporting is the best? 

a) Concentrate on broad statements of principle rather than details

b) Concentrate on data produced in social audits of factories in low-cost locations.

c) Follow the guidance of the Global Reporting Initiative.

d) Refrain from publishing a CSR report as there are no universal standards.

Answer: c

Short answer questions with guideline answers
1.
List the main concepts which make up CSR. 

a) CSR concerns the role of the company in society, which has traditionally been viewed as not extending beyond economic activity. CSR introduces a variety of other dimensions, including social and ethical.

b) Corporate citizenship – This concept focuses on the company as a member of society, with legal obligations and rights. The company is also seen as having the duties of the 'good citizen', for example, to give to charities. 

c) Ethics – Ethical principles are based on a sense of universal duty towards others, which extends beyond legal duties. 

d) Stakeholders – The notion of stakeholder includes all the groups and interests which affect the company. 
Bringing these concepts together, we can see that ethical and legal obligations are owed to a range of stakeholders: this is captured in the overall CSR approach.

2.
Assess the differing strategic approaches to CSR adopted by companies. 

a) The company which focuses on economic goals exclusively would take the view that CSR can be added in the form of philanthropy or corporate citizenship activities. These, however, are kept separate from its business activities. 

b) Some businesses adapt the approach just stated in (a) by including responses to stakeholder pressures, which adds a social dimension. However, this approach, too, focuses on economic goals. 

c) An integrated approach to CSR sees a strategy of combined economic and social goals. The business case for CSR falls within this category. It holds that a firm's business model should be sustainable in the long term, and only by accommodating social and environmental goals can businesses successfully adapt over time. 

d) The final approach to CSR is a CSR-focused strategy. Here, economic goals are secondary to social goals. 

3.
List the implications of CSR for international business operations. 

a) Looking at location decision-making, the firm with strong CSR credentials would probably not enter or do business with countries where the government is a military dictatorship, especially if the business helps to sustain the dictators. 

b) Many companies have been drawn to low-cost countries, but these often have weak rule of law and weak respect for human rights. CSR in outsourcing is difficult to implement in practice, largely because the business model is arguably incompatible with CSR goals. 

c) If CSR is framed in stakeholder terms, it applies in operations in many different environments. The oil companies are examples. 
d) A further implication for CSR in international business is the untenable nature of double standards. MNEs with high labour standards in the home country are accused of relaxing these standards for operations in developing countries. CSR highlights the problems of double standards in terms of stakeholder interests and ethical principles. 
4.
Asses the role of philanthropy and social enterprise in international business. 

a) Philanthropy can provide potentially large sums of money and also services in a variety of good causes, many in poor developing countries, which have become a recent focus of some of the large foundations (e.g. the Gates Foundation). This type of funding has become possible due to the vast accumulation of wealth of large companies and their founders, such as Bill Gates of Microsoft.

b) Philanthropic activities of large donors have become more actively managed in recent years, looking to apply some of the business expertise possessed by founders to their philanthropic goals.

c) Both philanthropy and social enterprises often fill gaps in government provision of services, although they should not be viewed as a substitute for governments. Accountability is seen as an issue: ultimately, the charitable foundations are accountable to their owners, who can determine the causes and strategies. In theory, they can decide to withdraw the funds whenever they like.
d) Social enterprises can be formed in a variety of organizations, such as a company or charity. They tend to be flexible in their organizations and in the activities. They are active in local community services and are focused on social goals. Many are activities which would be difficult to maintain as exclusively business enterprises. Hence, the need for funding by outsiders, which can be a difficult hurdle.
5.
In what ways is the debate on corporate governance now turning to the role of shareholders and stakeholders? 

a)
Shareholder value has been a guiding principle of Anglo-American corporate governance, but, perhaps paradoxically, ordinary shareholders have little influence on the boards which are meant to represent their interests. The shareholders' weak position contrasts with management's grip on boards. 

b)
Shareholder activism has grown. This is partly because hedge funds and other active investors have sought to influence management, but there is also a growing awareness that ordinary shareholders have remarkably little say in key aspects of the company, such as choice of directors or executive pay. 

c)
Stakeholder interests are central to CSR. Companies now routinely speak of their stakeholders as important influences. However, this does not usually extend to the boardroom. Corporate governance systems which take a stakeholder approach include those in Germany and other European countries. These are mainly focused on employees as represented by their trade unions. This can be seen as a rather narrow focus, while stakeholder responsibility should encompass wider considerations, including international stakeholders.

d)
A theme running through the corporate governance debate is the accountability of directors. This would include independent directors as well as executive directors. Critics of current corporate governance arrangements in many countries criticize boards for too little oversight and control of managers. 


Multiple choice questions
1.
Global governance takes place through which of the following? 

a) Formal structures

b) Networks and processes

c) Informal processes

d) Personal relationships

Answer: b

2.
All but which one of the following characterizes global governance processes? 

a) Conflicting aims among the parties

b) Inequality among parties 

c) Co-ordination of agreed actions among the players

d) Adherence to rigid rules

Answer: d

3.
Which one of the following global governance processes involve non-governmental organizations (NGOs)? 

a) Setting standards for the shipping industry

b) Environmental monitoring

c) Energy regulation

d) Accounting harmonization

Answer: b

4.
Which of the following are civil society organizations? Choose two. 

a) The WTO

b) An independent trade union

c) An voluntary association for the protection of the countryside

d) A government environment ministry

Answer: b and c

5.
The realist perspective views which of the following  as important in international relations? Choose two.

a)
A belief in multilateralism

b)
A large economy

c)
A willingness to co-operate on equal footing with other nations

d)
A strong military establishment

Answer: b and c

6.
Theories of liberal institutionalism espouse which of the following as guarantors of international stability? Choose one.

a)
National hegemony

b)
Belief in the global community

c)
Power politics

d)
Values of democracy in the political sphere and markets in the economic sphere.

Answer: d

7.
Which of the following is a criticism of global citizenship as a theory of international relations? 

a) It takes a multilayered view of citizenship.

b) It is unrealistic in that most people recognize state sovereignty.

c) It recognizes the interdependence of all the world's people.

d) It urges transparency of global institutions.

Answer: b

8.
Which of the following threats to peace and security are particularly relevant in developing countries? Choose two. 

a) Nuclear power

b) Regional conflicts

c) Societal conflicts

d) Strong governments

Answer: b and c
9.
Terrorism can best be combated in which of the following ways? Choose two. 

a) Interstate co-operation in investigation and prosecution.

b) The use of more private security companies.

c) Use of the International Criminal Court.

d) Individual citizens taking up arms to deter terrorists.

Answer: a and c

10.
Absolute poverty is defined as... 

a)
Living on less than $2 a day.

b)
Living on less than $1 a day.

c)
Living below the national poverty line.

d)
Living below the international poverty line.

Answer: b

11.
The Millennium Development Goals (MDGs) include all but which one of the following? 

a) To eliminate gender inequality in schools.

b) To halve the proportion of people living on less than $3 a day.

c) To address the needs of the least-developed countries on trade.

d) To halve the proportion of people without safe drinking water.

Answer: b

12.
Which of the following would be most likely to persuade a reluctant government in a developing country to sign up to reducing emissions? 

a) The sense of duty to address global issues.

b) Pressure from political leaders in rich countries.

c) The fear that the country's economy will suffer as a result of climate change.

d) Pressure from NGOs.

Answer: c

13.
Which one of the following countries ranks highest in the giving of official development assistance (ODA) as a percentage of GNI? 

a) The UK

b) The US

c) Sweden

d) Japan

Answer: c

14.
Why do poor developing countries struggle to compete globally in agricultural trade? 

a) Their costs are high.

b) Their products lose out to those from rich countries, whose farmers are subsidized.

c) The crops they grow are not in demand globally.

d) Their products are poor quality.

Answer: b

15.
What is the object of the WTO's Aid for Trade initiative? 

a)
To build capacity for trading activities in developing countries

b)
To fund infrastructure projects

c)
To train local businesspeople

d)
To help SMEs

Answer: a

16.
Sovereign economic players such as state-owned companies are sometimes accused of economic nationalism. Why? 

a) Because they are highly ideological.

b) Because they tend to be linked to the state's political aims.

c) Because they refuse to co-operate with market regulators.

d) Because they do not recognize contractual rights of other companies. 

Answer: b
17.
Sovereign wealth funds have been criticized for all but one of the following reasons. Which is the one?

a) Lack of transparency

b) Political agenda

c) Emphasis on social values

d) Organizations close to political leaders

Answer: c

18.
Which one of the following is not sovereign wealth fund? 

a) The Abu Dhabi Investment Authority

b) The Government Pension Fund of Norway

c) Temasek Holdings

d) ExxonMobil

Answer: d

19. Which of the following reforms is being considered by the IMF? 

a) Giving more voting power to developed countries.

b) Changing the representation to give more weight to developing countries.

c) Having a stronger executive.

d) Requiring national regulators to adhere to IMF recommendations.

Answer: b

20.
Which of the following is a transgovernmental network? 

a) The Securities and Exchange Commission

b) The WTO

c) The OECD

d) The World Bank

Answer: c
21.
What legal frameworks exist to deter MNEs from engaging in monopolistic or anti-competitive practices? Choose two.

a) National competition authorities

b) The WTO

c) The EU competition commissioner's department

d) The IMF

Answer: a and c

22.
In all but which one of the following areas has internet use benefited international business? 

a) Paperless cross-border transactions

b) Web content which caters for language and tastes in different markets

c) IP protection for brands

d) Liaison with supply-chain partners

Answer: c

23.
What advice would be the best for a company wishing to do business in a country where there is censorship of the internet? 

a) Actively aid the authorities in their censorship activities, to maintain good relations with the government. 

b) Do not enter the country because the government curtails freedom of expression.

c) It depends on the company's business principles; compromising its business principles can harm its global reputation.

d) Enter the country, but actively attempt to get round the strict regulation.

Answer: c

24.
Why does participation in international governance processes complement CSR? 

a)
Because international bodies stand up for human rights.

b)
Because international bodies help to alleviate poverty.

c)
Because CSR prioritizes international law over national law.

d)
Because CSR often helps to raise standards above national legal requirements.

Answer: d

25.
All but which one of the following is a principle of the fair trade initiative? 

a) Sustainable agriculture

b) Reasonable return to producers

c) Government subsidies to farmers

d) Social and educational programmes

Answer: c

Short answer questions with guideline answers
1.
List some processes indicative of global governance

a) UN programmes work with companies and NGOs in areas such as the environment. 

b) The IMF works with national governments and regulators in trying to maintain financial stability globally. 

c) Standard-setting at international level involve companies and international organizations, both governmental and non-governmental. 

d) The World Health Organization (WHO), governments and companies (such as pharmaceutical companies) work together to control diseases. 

2.
Assess the differing theories of international relations, explaining their implications for MNEs and global governance. 

a) The realist school of thought is based on the principle of national sovereignty. It assumes states will always pursue national self-interest. Those who subscribe to this view are wary of international organizations, as they represent a possible diminution of sovereignty. They recognize the contribution of non-state players such as MNEs, but see powerful MNEs as possible threats to the state's power. 

b) The liberal institutional approach is based on values of democracy and free markets. It sees states, MNEs and international institutions working together. 
The global citizenship approach takes a stronger view of international institutions, asserting that global problems demand global solutions. The world is viewed as a global community transcending state authorities. The MNE might find this approach rather too prescriptive, with too little recognition of national authorities and national differences. The MNE would thus probably prefer the liberal institutional approach.

3.
Assess the major global challenges for MNEs.  

a) Of the three highlighted in the text, the first is peace and security. MNEs might seem to have little role in this challenge, but in fact MNEs are increasingly involved in security matters, especially in unstable environments. They must therefore work with governments and other agencies. Many MNEs are active in weaponry and arms trade. While these are deemed to be defence industries, the proliferation of arms is a factor in conflicts in many unstable regions. 

b) Human well-being is the second global challenge highlighted. The Millennium Development Goals focus on goals of reducing poverty and hunger, and improving health and education. While businesses might seem to have a lower profile than governments, their role is nonetheless crucial. This is because development is key to alleviating hardship, and private businesses are the drivers of economic development. 

c) Climate change is the third global challenge cited. Here, many companies have taken the lead, as governments vary considerably in their commitments to reducing the impacts of global warming. Formulating corporate strategy for the future involves goals of environmental sustainability. 

4.
In what ways are development, government aid, trade and MNE growth becoming intertwined? 

a) Governments of richer countries provide aid packages to poor developing countries. These deals often involve a trade element, and are not simply a matter of altruism, but include benefits to the donor country (and its firms). 

b) Bilateral trade agreements (discussed in Chapter 6) often contain elements of development projects such as agreements to build infrastructure. This is beneficial to developing countries, although local companies and local workers can find they are rather frozen out (an example is China's agreements with African countries). 
c) MNE expansion is now focuses heavily on emerging and developing countries. How rapidly these markets develop depend on their governments' policies, which ideally would prioritize economic growth based on both domestic firms and foreign entrants. 
5.
Assess current trends in international rule-making, and their impacts on MNEs. 

a)
The urgency of global challenges such as poverty and climate change is becoming more apparent. These call for international co-operation among both sovereign players and MNEs. Similarly, one could add that financial meltdown in late 2008 indicated that global financial regulation has also become urgent. 

b)
Despite the need for international co-operation, there are trends indicating opposite forces at work. Countries have themselves become powerful economic players globally, through state-owned companies and sovereign wealth funds. Many national governments have shown that national self-interest is their priority: the collapse of the WTO's Doha round and the growth in protectionism are examples.  

c)
Power relations among countries are evolving. The BRIC countries (Brazil, Russia, India and China) are becoming more powerful economically, and also asserting their global roles in international politics. This implies a weakening of the dominant role of the US and its MNEs. This fragmentation might lead to greater co-operation at international level, but it also increases the likelihood of tensions in global governance, as the newer powers flex their muscles. 

d)
MNEs from emerging markets are playing an increasingly important role in international business. They have not as yet been influential in many of the global governance processes described in this chapter, but their influence will be a factor in future governance processes. 
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